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1. IEJIM U 3AJTAYU U3YUYEHUSA JUCIUAITJIMHBI

1.1.I1eab ocBOEHUS TUCHMILIUHBI:

TIOBBIIICHUE Y CTYICHTOB MCXOJHOTO YPOBHSI 3HAHUS MHOCTPAHHOTO SI3bIKA M OBJAJCHUE UMU HE00XO0-
AUMBIM U AOCTATOYHBIM YPOBHEM KOMIICTCHIHU OJId PCHICHUSA COUAIbHO-KOMMYHHUKATUBHBIX 3a/la4 B pa3jiny-
HBIX 00JIaCcTSIX OBITOBOM, KYIbTYpHOH, TPO(ECCHOHAILHON U HAyYHOH ACATEIHHOCTH, a TAKXKE JIJIS JaJIbHEHIIIe-
ro caMmoo0Opa3oBaHuUsl.

1.2.3agauu AMCHMILINHEL.

— Ppa3BUTHE MHOS3BIYHOW KOMMYHHKATHUBHOW KOMIIETCHIIMH (PEUeBOM, SI3BIKOBOM, COIMOKYJIBTYPHOU U
y4eOHO-TI03HABATEILHON );

— COBEPIICHCTBOBAHNEC KOMMYHHKATHUBHBIX YMEHUU B YETHIPEX OCHOBHBIX BHJIAX PEUEBOM JESATEIBHO-
CTH,

— Ppa3BUTHE HABBIKOB ONEPUPOBAHMS S3BIKOBBIMU €MHUIIAMUA B KOMMYHUKATUBHBIX IIEIISX.

1.3. MecTo AucHMILINHBI (MOYJs) B CTPYKTYpe 00pa3oBaTeIbHOIl POrpaMMbl

JlanHast TUCHUIIIMHA OTHOCUTCS K 0a30Boit yactu broka 1 «/luciunaunel (MOAysu)» y4eOHOTO IJIaHa.

OOyueHne aHTTIUIICKOMY SI3bIKY ITPOBOAMTCS B TECHOM CBSA3HM C M3y4yaeMbIMU MPOGUIHPYIOIIUMHU AUCIIU-
IUTMHAMH, a TAKKE C y4eTOM Oyaymieit mpodeCcCHOHATBHON JesTeIIbHOCTH BBITYCKHHKA.

OOydeHre MHOCTPAHHOMY SI3bIKY CTYACHTOB HESA3BIKOBBIX CIEIMATbHOCTEH paccMaTpUBaeTCs Kak co-
CTaBHAasg 4acTh BY30BCKOM MpPOrpaMMbl T'YMaHUTApHU3allUM BBHICIIETO OOpa30BaHMs, KaK OpPraHWYecKas 4acTb
mpolecca OCYIIECTBICHUS! MOATOTOBKH BBICOKOKBATU(UIIMPOBAHHBIX CIIELUATNCTOB, aKTUBHO BIAJCIOIINX
WHOCTPAHHBIM SI3BIKOM KaK CPEJCTBOM MHTEPKYJIbTYPHON W MEXHAIIMOHATHHOW KOMMYHHUKAIIUH, Kak B cepax
npodeccnoHaNbHBIX HUHTEPECOB, TAK U B CUTYAIUAX COLUATBHOTO OOLICHHUS.

1.4. llepeyeHb IIAHUPYEMBIX Pe3yJIbTATOB 00y4YeHHs MO TUCHHUIIUHE (MOAYJII0), COOTHECEHHBIX €
IVIAHUPYEMbIMU pe3yJIbTaTaMHU 0CBOEHHs 00pa30BaTeIbHOM MPOTrPaMMBbl

W3ydyenue naHHOW MUCHUIUIMHBI HAmpaBieHO Ha (opMUpOBaHHE Yy OOydarolmuxcs OOLIEKYIbTYpHOI
xomnerennun. OK-5

HNupexc Conepxanue B pesynbpTaTe nzydeHus: yueOHON AUCIUTUIMHBI
KOMIIe- KOMIETEeHIMH (MU €€ 00yyaroImuecs 10JKHbI
TEHIIUU YacTH) 3HaTh yMeTh BJIa/IeTh
OK-5 CriocoOHOCTh K KOMMY- | - 0a30BbI€ MpaBUIIA — MCIIOJIb30BaTh 0a- | - HABBIKAMU YCT-
HUKAalUU B YCTHOU U YCTHOM ¥ MMCbMEHHOM | 30BBbIC IIPaBUJjIa YCT- | HOM ¥ IUCBMEHHOM
MUCHbMEHHON (hopMax Ha | KOMMYHHKALIUU HA HOM KOMMYHMKAalMi | KOMMYHHKAIMH Ha
PYCCKOM M MHOCTPAHHOM | PYCCKOM M MHOCTpPaH- | M MUCbMEHHOM KOM- | pyCCKOM U MHO-
A3BIKaxX Ul peICHUs HOM SI3BbIKaX; MYHHKAIMH HA PyC- | CTPAHHOM SI3bIKax
3aJ1a4 MEXJIMYHOCTHOTO | - CUCTEMHbIE TIpeI- CKOM M MHOCTpaH- i 3¢ ekTUBHON
U MEXKYJIbTYPHOTO B3a- | CTaBJIEHUS O IIpaBU- HOM SI3bIKax JUIs npodeccuoHab-
MMOJENCTBHUSA JIaX YCTHOM M IUCh- peleHus 3anad HOM KOMMYHHUKa-
MEHHOW KOMMYHMKA- | MEKIMYHOCTHOIO IIUH, CrIoco0amMu
LIUU B PYCCKOM U UHO- | OOIIECHUS; MEXJIMYHOCTHOTO U
CTPaHHOM S3bIKax, O - HCIIOJIb30BAaTh MEXKYJIbTYPHOTO
dhopmax u criocobax KOMIUIEKC TIPABHUIT B3aUMOJICHCTBUSA
3¢ (EKTUBHOTO MEX- | YCTHOM KOMMYHHUKa-
JUYHOCTHOTO U ME&X- | I[UU U MUCbMEHHOU
KYJbTYPHOT'O B3aUMO- | KOMMYHUKAIIUH Ha
NENUCTBUA PYCCKOM U UHO-
CTPaHHOM SI3bIKaxX
11t 3 PEeKTUBHOTO
pelieHus 3a1a4
MEXJIMYHOCTHOTO
OOIIEHUS I MEX-
KyJIbTYPHOI'O B3aH-




Nunexc Conepxanue B pe3ynbrate n3yueHus: yaeOHON AUCIUTIITHBI

KOMIIE- KOMITETCHIINH (MITH €& oOy4aromuecs: JOIKHbI

TEHIUU 4acTH) 3HATh yMeThb BJIa/IeTh
MOJICUCTBUSA

2. CTPYKTYPA U COAEP)KAHUE JUCIIUITJIMHBI

2.1 Pacnipenesienne TPY10EMKOCTH JUCHUILIMHBI IO BHAaM padoT
Oo611ast Tpy10EMKOCTh IUCIHUILINHBI cocTaBisteT 6 3au.ea. (216 yacoB), ux pacrpeaeiieHie 0 BUIaM pa-
00T mpencTasieHo B Tabnuue (s ctyaentos 300).

Bun yae6HO# paboThI Bceero CemecTpsl
JacoB (dachrn)

1 2 3 4
KonrakTHasi paGora (Bcero), B ToM 4ncJie: 28,7 14 4.4 10,3 -
AynuTOpHBIE 3aHATHS (BCEro): 28 14 4 10 -
3aHATHUS JIEKIUOHHOTO THIIA - - - - -
JlaGopaTopHble 3aHATHUS 28 14 4 10 -
3aHATHSI CEMUHAPCKOTO TUIIA (CEMUHAPBI, IPAKTUYECKUE
3aHATHUSA) i ) ) ) )
HNuas koHTaKTHAsA padoTa (Bcero): 0,7 - 0,4 0,3 -
KonTpons camoctostensaoi padbotsl (KCP) - - - - -
ITpomexyrounas arrecramnus (MKP) 0,5 - 0,2 0,3 -
Konrpomnsnas padora (KoP) 0,2 - 0,2 - -

CamocrosiTesibHas padoTa (Bcero), B TOM 4ucJje: 174,8 58 27,8 89 -
Kypcogas pabora - -

ITpopaboTka yuebHOro (TeOpeTuyecKoro) MaTepuana - - - - -

BBIHOﬂHeHI/Ie 1205010502348 AJIBHBIX 34 aHI/Iﬁ BBITIOJTHCHUC
JMBULY AaHHH ( 1468 a4 | 238 | 79 i

yHOpaKHEHHIA)
ITonroTroBKa K TeKylemy KOHTPOJIIO 28 14 4 10 -
KoHnTpoJb: 12,5 - 3,8 8,7 -
ITonroroBka K 3a4eTy/>K3aMeHy 12,5 - 3,8 8,7 -
OO0mas Tpy10eMKOCTh yac. 216 72 36 108 -
B TOM YK CJIe KOHTAKTHASA 287 14 4.4 103 i
padora
3a4. el 6 2 1 3 -

2.2 CTpyKTypa AMCHHMIIIMHbI
Pacrnipenenennie BU10B yueOHOM paOOThI U UX TPYIOEMKOCTH MO pa3/esiaM JUCLMUIIIUHBI.
Pasnensl qucnumuinHel, u3yyaembie B 1,2,3 cemectpax (3aouHast popma).

KonnuecTBo yacos
AynutopHas Breayu-
Ne HaunmeHnoBanue pa3ienoB TOpHAas
Bcero pabota
pabora
J | m3 | Jp CPC
1 cemectp
1 | Management 6 2 4
OO0pa3zoBaHNE MHOYKECTBEHHOT'O YHCJIa HIMEH CY-
) IIECCTBUTCJIIBbHBIX. HpHTﬂ)KaTeJ'IBHBIﬁ maacxx UMCH 4 4
CYILECTBUTENBHBIX. [1OpSIOK CIIOB B aHTIIHMICKOM
IPEUIOKEHU T
3 | Human Resources (HR) 6 2 4




KonnuecTBo yacoB

Bneayau-
No HaumenoBanue pasnenos AyRuTOpHas TOpHAast
Bcero pabota
pabota
JI I13 JIP CPC

MecTtonMeHnus (JInuHbIE, IPUTSKATEIbHBIE, yKa3a-
TeJbHbIE, BOIIPOCUTEIbHBIE, BO3BPATHHIE).

4 | KonmnuecTBEHHBIC MECTOMMEHHS. 4 4
Heomnpenenénusie MecTouMeHus some, any,
OTPUIATEIILHOE MECTOMMEHHE NO

5 | Marketing 6 2 4
KonnuecTBeHHrnie YHUCIUTCIBHBIC, ITOPAAKOBBIC

6 | yucnurenbHple. CrpsbkeHue U yrnoTpebieHue 4 4
riarouia to be, to have

7 | Public Relations 6 2 4

8 OCHOBHBbIE THUIIBl BOIIPOCUTEIBHBIX NPEJI0KEHHUH 6 6

9 | Mass Media 6 2 4
ApTHKIIb. YHOTpeOIeHNE ONPEIeICHHOTO U He-

10 | ompeneneHHOTO apTUKIISA. YTIOTPEOICHHE apTHKIIS 6 6
¢ reorpaMueCKUMH Ha3BaHUSIMU

11 | Evolution of Public Administration 6 2 4

12 Hacrosmue Bpemena. YnorpebiaeHue U Criocoobl 5 5
o0Opa3oBaHMs

13 | State Structure: the USA 6 2 4
Umoeo 6 | cemecmpe: 14 58

2 cemecTp

14 | State Structure: the European Union 4 4

15 [Ipomenimue BpemeHa. YorpeOieHue u crocoos! 5 2
o0pa3oBaHUs

16 | State Structure: the UK 4 4

17 Bbynymue Bpemena. YnotpeGieHue u criocoObl 5 9
o0pa3zoBaHMs

18 | State Structure: the Russian Federation 4 4

19 | CornacoBanue BpeMeH B aHTIIMHCKOM SI3BIKE 2 2

20 | Basics of Economics 4 2 2
CreneHu cpaBHEHUS UMEH MPUIAraTeIbHbIX.

21 CpaBHuTenbHble KOHCTpYKIMU. Hapeune. 5 5
Crenenu cpaBHeHUs Hapeuuii. MecTo Hapeuus B
TIPETIOKEHUT

22 | Money and Banks 4 2 2

23 [Ipsimast u kocBeHHas peub. CITocoOBI TepeBoia 38 38
MIPSIMOIA peur B KOCBEHHYIO ' ’
Hmoeo 6 2 cemecmpe: 4 27,8

3 cemecTp

24 | Public and Municipal Finances 12 2 10
MonanpHBIe TJIaroJbl, 00IINe CBEACHHUS.

o5 MonanpHbIe TIaroisl can, may. MoaansHbIe TI1a- 12 9 10
TOJIBI. FJ'Ial"OJ'II)I, BbIpaXAarOMUE JOJLDKCHCTBOBAHHUE
must, should, ought to

26 | Public Finance: Revenue and Expenditures 12 2 10

27 | CtpagaTenbHbIi 3aJ10T 14 14

28 | Infrastructure 12 2 10
Henuunsie popmer rnarona. Mudunutus. ['epyn-

29 . 12 12
nuid. [Ipuyactue L. [Tpuyactue 11




KonuuecTBo yacos
AynutopHas Bueayu-
No HaumenoBanue pasnenos TOpHAast
Bcero pabota
pabota
J I13 JIP CPC

30 | Social Protection 12 2 10
31 | Ynorpebnenue ¢hpazoBbixX riaarojaoB. Hakimonenue 13 13
Hmoeo 6 3 cemecmpe: 10 89

Hmoeo no oucyunnune: 28 174,8

2.3. Conep:xanue pa3iejoB IUCHUILIAHBI
B nanHoM nogpasznene npuBOJIUTCSA ONMUCAHUE COAEPKAHMS AUCIUIUIMHBI, CTPYKTYPUPOBAaHHOE MO pasjie-
JaM, ¢ yKa3zaHHEM M0 KaXJIoMy paszaeny (GopMbl Tekymiero koutpods: JIY — nekcudeckue ynpaxkuenus; ['Y —

rpammarndeckue ynpaxuenus; K — keicer; T — TecThl.

2.3.1 3aHATHA JJeKINOHHOI0 THIIA
3anamus 1ekyuoHHo20 muna He npeodycmMompeHtol.

2.3.2 3aHATHA CEMUHAPCKOT0 THIMA
3auamus cemunapcko2o muna He npedycmMompeHul.

2.3.3 JlabopaTopHble 3aHATHS

®opma
Ne HaumenoBanue paznena TemaTuka 1a00paTOPHBIX 3aHATUIA TEKYILETO
KOHTPOJIA

Management.
Lead-in.
Topical vocabulary.
1 | Tema 1. Management Languages practice. Iy, T
Reading.
Speaking.
Writing.
Human Resources (HR).
Lead-in.

Topical vocabulary.
2 Tema 3. Human Resources Languages practice. 1Y, T

(HR) )

Reading.
Speaking.
Writing.
Marketing.
Reading.
Speaking.
Writing.
Public Relations.
Lead-in.
Topical vocabulary.
4 | Tema 7. Public Relations Languages practice. Iy, T
Reading.
Speaking.
Writing.
Mass Media.
5 | Tema 9. Mass Media Lead-in. Y, T
Topical vocabulary.

3 | Tema 5. Marketing

6



HaunmenoBanue pasnena

TemaTnka 1a00paTOPHBIX 3aHATHA

dopma
TEKYILEro
KOHTPOJIA

Languages practice.
Reading.

Speaking.

Writing.

Tema 11. Evolution of Pub-
lic Administration

Evolution of Public Administration.

Lead-in.

Skimming: Interesting facts about the history of public ad-
ministration.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jay, T

Tema 13. State Structure:
the USA

Skimming: How the USA is governed.
State Structure: the USA.

Detail reading.

Topical vocabulary.

Advanced vocabulary practice.

Iy, T

Tema 20. Basics of Econom-
ics

Basics of Economics.

Lead-in.

Skimming: Twin Sciences.
Advanced vocabulary practice.
Languages practice.

Detail reading.

Topical vocabulary.
Languages practice.

Writing.

Y, T

Tema 22. Money and Banks

Money and Banks.

Lead-in.

Skimming: Business that meets financial needs and eco-
nomic conditions.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jay, T

10

Tema 24. Public and Munic-
ipal Finances

The essence of Public Finance. The essence of Municipal
Finance.

Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jay, T

11

Tema 25. MojanbHbIE TI1a-
TOJIbI, OOIIME CBEACHUS.
MopanpHbIe TIIaroasl can,
may. MoanbHbI€ I1aroJbl.
['maronel, Beipaxkaromue
JOJDKEHCTBOBaHUE MUSt,
should, ought to

1. MonanbHble IIaroibl, OOIIKe CBEAEHMUS.

2. MopaJibHBIC TJIaroJisl May.

3. MopanbHbI€ TIaroJisl can.

4. Tmaro:nbl, BEIpaXKaroIue T0HKEHCTBOBaHUE MUSL.

5. I'marounel, BeIpaxarouiue JobKeHCTBOBaHue have to, be
to.

6. ['maronbl, BhIpaXkaromme ToJDKeHCTBOBaHHME Sshould,

Iy, T

7




dopma
No HaunmenoBanue pasnena TemaTnka 1a00paTOPHBIX 3aHATHA TEKYIIETO
KOHTPOJIS

ought to.
Grammar practice.

Budget and Public revenue. Public Expenditures.
Topical vocabulary.

Tema 26. Public Finance: Reading.

Revenue and Expenditures | Speaking.

Languages practice.

Writing.

12 Iy, T

Infrastructure and its role in economic development. Public
— private partnership in infrastructure projects.

Topical vocabulary.

13 | Tema 28. Infrastructure Reading. Y, T
Speaking.
Languages practice.
Writing.

Definitions, goals, types. Social Protection in different
countries.

Topical vocabulary.

14 | Tema 30. Social Protection | Reading. Jay, T
Speaking.
Languages practice.
Writing.

2.4 llepeyeHb y4eOHO-METOAMYECKOT0 00eceYeHUs Il CAMOCTOATEIbHOM padoThl 00yUYa0IIuXCs
1o JUCUMIIMHE (MOTYJII0)

[lepeuensb yaeOHO-METOANIECKOTO 0OECTICUSHHSI TUCITUILTUHBI TIO BBITION-

No Buxg CPC N
HEHMIO CaMOCTOSTENIbHON pabOThI

1 [TpopaboTka yueGHOTO CamocrosTenbHas paboTa CTYyJCHTOB: METOIUUECKIE PEKOMEHIalluH
Marepuaia Jutst OakanaBpoB HampasiieHus moarotoBku 38.03.04 'ocynapcTBeHHOE |

) [ToATOTOBKA K TeKylleMy | MyHUIMIAIBHOE YIIPaBJIEHHUE, YTBEPKIEHHbIC Kaeapoil 5)KOHOMUKH U
KOHTPOJTIO meHepkMenTa (mpotokost Nel ot 30.08.2018 1)

3 Beimonaenue [TrceMeHHbIe paOOTHI CTY/ICGHTOB: METOMYECKHE PEKOMEHIAIHHN JIJIS
yIpakHEHUH OakanaBpoB HarmpaBneHus moarotoku 38.03.04 ['ocynapcTBenHoe 1

MYHUIIUTNIAJIBHOE YIPaBICHHUE, YTBEPKACHHbIE Kadheapoil SKOHOMUKH U

4 | Kontpomsnas padora meHepkMenTa (mpotokost Nel ot 30.08.2018 1.)

JlaGopaTopHble pabOTHI CTYJCHTOB: METOMUECKIE PEKOMEHIAIIH IS
Beimonaenue madbopa- OakayiaBpoB HarpasieHus moarotosku 38.03.04 'ocynapcTBeHHOE |
TOPHOU pabOTHI MYHUIUTIAILHOE YIIPABJICHHUE, YTBEPKACHHBIC Kaheapoil SKOHOMHUKH U
menemkMenTa (mporokos Nel or 30.08.2018 r.)

Y4eOHO-MeToInYeCKUe MaTepHaIbl ISl CAMOCTOSTEIbHON paboThl 00yJaroIUXCcsl U3 YHCIIa HHBAJIUAOB U
JIUI] C OTPaHUYEHHBIMH BO3MOXHOCTAMU 3710poBbs (OB3) mpenocrasnsores B popmax, alaTUPOBAHHBIX K
OTPaHUYEHUSIM HX 3/10pPOBbS U BOCTIPUATHSA HHPOPMALIUU:

JUJist T ¢ HApYIICHUSIMH 3PEHHS:

— B I1€4aTHOW (hopMe YBEIUYEHHBIM HIPUPTOM;

— B (popMe 2IEKTPOHHOTO TOKYMEHTA.

JUst 1 ¢ HapyIIEHUSIMU CITyXa!

— B IIeYaTHOU (opme;

— B (hopMe 2IEKTPOHHOTO TOKYMEHTA.

JUJ1st T ¢ HApyIISHUSIMH OTIOPHO-IIBUTATEIBHOTO armapara:

— B I1e4aTHOH (opme;

— B (hpopMe 3IIEKTPOHHOTO IOKYMEHTA.



JlaHHBIN TIepeYeHb MOXKET ObITh KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHTE€HTa 00yUYarOMIUXCsl.
3. OBPA3OBATEJIBHBIE TEXHOJIOT' T

B nporuecce n3ydeHust JUCHUILTUHBI 3aHATUS J1a0OPATOPHOTO TUMA SBJIAIOTCS BeAymuMHu (popmamu 00y-
YEHUs B paMKax 00pa30BaTesIbHON CHCTEMBI.

B yde6HOM mpoliecce UCTOIB3YIOTCS CleAyole 00pa3oBaTebHbIe TEXHOIOTHH:

— TEXHOJIOTHS MPOOJIEMHOT0 O0YUYESHHUS: TTOCIIeIOBATEIBHOE U I[EJIEHAPABICHHOE BBIIBUKECHUE TIEpe]l
CTYJCHTOM IO3HaBaTeNIbHBIX 33]1a4, pa3peliasi KOTOpble CTYACHTbl aKTUBHO YCBAaUBAIOT 3HAHUS;

— TEXHOJIOTHS pa3BUBAIOLIETO O0YUYCHHS: OpUEHTALUS Y4eOHOT0 IpoIiecca Ha MOTEHIIMAIbHBIE BOZMOXK-
HOCTH YEJIOBEKA U X PEAI3aLINIO;

— TexHojorus AudepeHnpoBaHHOT0 O0YyYEHHS: YCBOSHUE MMPOrPaMMHOI0 MaTeprasa Ha pa3IMuHbIX
IUTAHUPYEMBIX YPOBHSIX, HO HE HUXKE 00513aTEIIbHOTO;

— TEXHOJIOTHUSl aKTUBHOTO (KOHTEKCTHOT0) OOYYEHHsI: MOJIETTMPOBAHUE TIPEIMETHOTO U COL[MATIBHOTO CO-
nepxaHus Oyaymiei mpodeccnoHalIbHOM NeSTeTbHOCTH;

Taxke mpu OCBOGHUHU IUCHUIUIMHBI B y4eOHOM MpOIlecce MCMOIb3YIOTCS aKTHBHBIE U MHTEPAKTUBHBIE
(B3auMoiericTBYOIIHE) (DOPMBI IPOBEICHUS 3aHITHH.

Jljig U1l ¢ OrpaHUYeHHBIMU BO3MOXKHOCTSIMHU 3/10POBbSI IIPEyCMOTPEHA OpraHU3allvs KOHCYIbTAlUN ¢
WCIIOJIb30BAaHUEM DJIEKTPOHHOM MOYTHI.

4. OHEHOYHBIE CPEIACTBA JJI51 TEKYIIEI'O KOHTPOJIA YCIIEBAEMOCTH U
IMPOMEXYTOYHOU ATTECTALLUU

4.1 ®oHj OLIEHOYHBIX CPEACTB /ISl MPOBeeHHs TeKYIero KOHTPOJIs

®oH OLICHOYHBIX CpeacCTB 110 JUCHUIIIINHE O(bOpMJ'IeH KaK OTACJIbHOC IIPHUIIOKCHHEC K pa60qe171 Iporpam-
M¢€.

IIpumepHbIe JekcHYecKHne YIpasKHeHUust

Tema 1. Management
IIpounTaiiTe u NepeBEeIUTE TEKCT.
Definition of Management
Management is based on scientific theories and today we can say that it is a developing science.
But knowledge of theories and principles doesn’t provide practical results. It is necessary to know how to apply
this knowledge. Practical application of knowledge in the management area requires certain abilities or skills.
Here is an example:
Depending on its size, an organization may employ a number of specialized managers who are responsible for
particular areas of management. A very large organization may employ many managers, each responsible for
activities of one management area. In contrast, the owner of a sole proprietorship may be the only manager in
the organization. He or she is responsible for all levels and areas of management.
What is important to an organization is not the number of managers it employs but the ability of these managers
to achieve the organization’s goals, and this ability requires a great skill.
In the other words, management is the process of coordinating the resources of an organization to achieve the
primary organizational goals.
Main Resources
Managers are concerned with the following main resources:
1. Material resources are physical materials and the equipment used by an organization to make a product. For
example, cars are made on assembly lines. These assembly lines and the buildings that house them are material
resources.
2. The most important resources of any organization are its human resources — people. Some firms believe that
their employees are their most important assets. To keep employees content, a variety of incentives are used ,
including higher-than-average pay, flexible working hours, recreational facilities, lengthy paid vacations, cafe-
terias offering inexpensive meals, etc.
3. Financial resources are the funds the organization uses to meet its obligations to various creditors. A grocery
store obtains money from customers and uses a portion of that money to pay the wholesalers from which it buys
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food. A large bank, borrows and lends money. A college obtains money in the form of tuition, income from its
endowments, and federal grants. It uses the money to pay utility bills, insurance premiums, and professor’s sal-
aries. Each of these transactions involves financial resources.

4. Finally, many organizations increasingly find they cannot ignore information. External environment — includ-
ing the economy, consumer markets, technology, politics, and cultural forces — are all changing so rapidly that
an organization that does not adapt will probably not survive. And, to adapt to change, the organization must
know what is changing and how it is changing. Companies are finding it increasingly important to gather in-
formation about their competitors in today’s business environment.

It is important to realize that these are only general categories of resources. Within each category are hundreds
or thousands of more specific resources, from which management must choose those that can best accomplish
its goals. Managers must coordinate this complex group of specific resources to produce goods and services.
Exercises

1. Translate into Russian.

Employ managers; a number (of); a variety (of); management area; the only manager; the owner of a
sole proprietorship; levels and areas of management; to achieve the organization’s goals; a great skill; human
resources; tangible (material) resources; primary goals; employee; assets; recreational facilities; lengthy paid
vacation; meet obligations; money; obtain money; income; insurance premium; salary; consumer market; sur-
vive; competitor; accomplish goals; produce goods and services; grant; wholesaler; endowment; utility; utility
bills; borrow and lend money; salary; practical results.

2. Find the English equivalents.

Hayunple Teopun; mpakTHUECKUE PE3YNbTaThl; YIPABIATH JCIOBBIMUA (pUpMaMu; HAHUMATh MEHEDKe-
poB; obnacte(cdepa) yrnpaBieHHs; BIageNiell eAUHOINYHON COOCTBEHHOCTH; €IMHCTBEHHBIH; TOCTUTaTh Opra-
HHU3allMOHHBIC IICJIH, 0oJIBIIOE MacCTCpCTBO, AOXOJ; OCHOBHBLIC LCIW OpraHu3alvuv, MaTCpHUaJIbHBIC PECYPCHI,
CJ'Iy)K&H.[PIﬁ; OIITOBUK; CTUMYII; ,Z[JII/ITCJIBHBIﬁ OIlIaYNBaE€MBIH OTIIYCK; 3aHUMAThb ACHBI'U; JaBaTb ACHBI'U B JJOJIT;
OIUIAYMBATh CYETA MPEINPHUATHA KOMMYHAIBLHOTO OOCITY)KWBaHUS; CTpaxoBas MpeMus; 3apruiara; (GpuHaHCO-
Baﬂ) orecpanuia; (1)OHI[; HOTpe6I/ITeJIbCKHﬁ PBIHOK; BBI)KUBATbh, HpI/ICHOCO6I/ITBCH K HU3MCHCHUIO; KOHKYPCHT,
OCYIIIECTBHUTH II€JI; TOBAphl W YCIYI'HW; aKTUBBI, MOOYIUTEIbHBIN MOTHB, cyOcuaus (O6e3Bo3BpaTHas ccyna);
MokepTBOBaHUE (0J1arOTBOPUTEIBHBIN B3HOC).

3. Fill in the blanks.

1. Management is based on ..... and today we can say thatitis ..... .

2. The owner of a sole proprietorship may be the only ..... in the organization.

3. Management is the process of coordinating the resources of an organization to achieve the ..... of the organi-
zation.

4. Managers are concerned with four types of ..... .

5. Material resources are ...... resources.

6. Human resources are perhaps the most ..... resources.

7. To keep employees content, a variety of ...... are used.

8. A large bank ..... and ..... money.

9. External environment is changing so rapidly that the organization that does not adapt will probably not ......
10. Companies are finding it increasingly important to gather ..... about their ..... .

11. Managers must coordinate the complex group of specific resources to produce ...... and .....

4. Translate into English.

1. MeHeKMEHT OCHOBAaH Ha HAyYHBIX TEOPHSIX.

2. MCHC,Z[)KMCHT — 9TO NMPOUECCC KOOPpANHAIIUN PECCYPCOB OpTraHU3alnn I JOCTUKCHHUA OPraHU3allMOHHBIX 1€~
JIEH.

3. MCHGI[)KCpBI 3aHUMAIOTCA YCTBIPbMA BUJAMH PCCYPCOB: MAaTCPUAJILHBIMU, (I)I/IHaHCOBLIMI/I, JJFOOACKUMU U UH-
(dbopMallnOHHBIMHU.

4. Hanbosee BaxXHBIMU pecypcamu II000H OopraHu3aluu SABJIAOTCA JIFOJACKHUEC PECYPCHL.

5. JIns ynOBIETBOPEHHUS CIYKAIIKUX UCITOJIB3YETCS Pl CTUMYJIOB.

6. MaTCpI/IaJIBHBIC PECYPCHL — 3TO MATCpUaJibl, U3 KOTOPBIX U3rOTOBJICHA MMPOAYKIUA, a TAKIKE OﬁOpy,Z[OBaHI/Ie,
HCIIOJIB3YEMOC JIA eé IMPOU3BOJACTBA.

7. ®UHAHCOBLIE pPeCYpPCBI — 3TO (I)OHI[BI, KOTOPLBIC HCIIOJNB3YCT OpraHu3anus JIs1 IMOBBIINICHUSA CBOUX 00s3a-
TEJIBCTB IEPEN pa3INIHBIMUA KPEAUTOPAMHU.

8. BHemHee okpyKeHHe, BKIIOYast SJKOHOMHKY, TOTPEOUTENBCKUE PHIHKU, TEXHOJIOTHIO, IOJUTUKY U KYJIbTYp-
HbIe (PaKTOPBI, U3MEHSETCSI OYE€Hb OBICTPO.

9. Opranu3anusi, Kotopast He npucrnocadauBaercs (adapt t0) Kk BHEITHEMY OKPYXCHUIO, MOXKET HE BHIXKHTb.
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10. Komnanuu cuuTaroT 60jee BaXKHbIM cOOMPaTh MHPOPMALIUIO O CBOUX KOHKYPEHTAX.
5. Answer the questions.

1. What can you say about management in general?

2. Why does a large organization employ many managers?

3. What is important to an organization?

4. Does the ability to achieve organizational goals require a great skill?

5. What can you say about management as a process?

6. What main resources are managers concerned with?

7. What incentives are used to keep employees content? Why?

8. How does an organization obtain financial resources? Give some examples.

9. Is external environment including the economy? Consumer markets etc. changing rapidly?
10. What must an organization do to survive?

IIpumepHble rpaMMaTHUYeCKHe YIIPAKHEHHS

Tema 25. MoaaabHbIe 1J1aroJibl, o0ume cBeaeHunsi. MogaabHble 1JaroJsl can, may. MoaajibHble 1j1aro-
Jabl. [J1aroeJinl, BhIpaskaromue J0JKeHcTBOBaHMe mMust, should, ought to

1. Comment on the meaning of modal verbs. Translate into Russian.

1. On the fourth day, feeling that she could bear the suspense no longer, she telephoned to Fleur and asked if
she might come up to them. 2. | should be grateful if you would keep your hands off my business in future. 3.
You know you didn't dare give the order to charge the bridge until you saw us on the other side. 4. Poker
shouldn't be played in a house with women. 5. They didn't have to worry about money. 6. Although his resi-
dence and his family were in the country, he was frequently to be found about the restaurants and resorts of the
radical section of the city. 7. She would not answer me, of course, but went on cording the crate. And when |
thought it was done with, she found a volume slipped under a chair, and she would open up the crate and put it
in. 8. "'l suppose you know what I've been through since that bag came this morning," said mother. "You might
have had some consideration for me. There is simply no excuse for all this." 9. You need not meet him unless
you like. 10. He's... let me see... He can't be more than thirty, dear. 11. Misha followed her, and they were to be
seen a moment later in conversation. 12. Meanwhile, Margaret seemed to hear a faint knocking, but as no one
appeared to hear it, she thought she must be mistaken. 13. And of course you should have introduced us long
ago. 14. 1 could not, and would not, believe that she was becoming interested in me. That could not be. 15. An-
yhow, John won't hear of you seeing her. 16. And here now was this young and promising doctor, who could, if
he would, keep her supplied with work, and might even eventually marry her. 17. Aubrey: What is to be her
future? It is in my hands; what am | to do? 18. Your family may object to me; and then it will be all over be-
tween us. 19. Rosa reflected, as the train was leaving Naples, that perhaps she ought not to have left Hunter
alone. 20. How dare he speak so to me? 21. | need hardly say | would do anything in the world to ensure
Gwendolen's happiness. 22. How dare you address me as dear Sir, Sir? How dare you look me in the face and
do it, Sir? 23. Mama came down, and in a voice which was both astonished and distraught, exclaimed: "Grand-
pa is not upstairs. Where can he have gone?" 24. But you might have been firing away at the Australians still if
we cavalry fellows hadn't found the ford and got across. 25. You must be dying with curiosity. Take a peep. 26.
Madam, may | speak 'to you a moment? 27. She gazed at me severely. "You ought to be in at your essay." 28.
"Land ought to be very dear about there," he said. 29. The substance of her observations, along with those of
others, is to be found in a series of articles published in a series of screen publications of the time. 30. But
you've got to finish college. We can't get married for a long time. 31. Cain said: "I don't have to pay to find that
out. I could have asked anybody at the meeting, and found out.” 32. Soames would often come down to watch
with secret pride the building of the house which was to have been his home. 33.. Miss Femm opened the door.
"I've none of this electric light. 1 won't have it. You'll have to wait till I've lit the candles.” 34. "Well," James
said, with a nervous emphasis, "I don't see what you want with a tree.”" "It shall come down to-morrow," said
Bosinney. 35. "What are we to do?" she gasped. "Can't we stay here? Shall | lock the door?" 36. I felt suddenly
dizzy with pain and unable to face whatever scene was to follow. 37. But Sally, with a towel round her, went
down to the water's edge. "You're to come out this minute, Philip,” she called, as though he were a small boy
under her charge. 38. It seemed like an age, but | suppose the whole thing can't have lasted thirty seconds real-

ly.
IIpumepHbIe KelChI
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Tema 5. Marketing
Channels of Marketing
[IpounTaiiTe TEKCT U BBIIOJHUTE 33 IaHUS.
1. Individual consumers and corporate buyers are aware that thousands of goods and services are available
through a very large number of diverse channel outlets. What they may not be well aware of is the fact that the
channel structure, or the set of institutions, agencies, and establishments through which the product must move
to get to them, can be amazingly complex.
2. Usually, institutions specializing in manufacturing, wholesaling, retailing, and many other areas join forces
in marketing channel arrangements to make possible the delivery of goods to industrial users or customers and
to final consumers. The same is true for the marketing of services. For example, in the case of health care deliv-
ery, hospitals, laboratories, insurance companies, and drugstores combine efforts in an organized channel ar-
rangement to ensure the delivery of a critical service.
3. Therefore, marketing channels can be viewed as sets of interdependent organizations involved in the process
of making a product or service available for use or consumption. Not only do marketing channels satisfy de-
mand by supplying goods and services at the right place, quantity, quality, and price, but they also stimulate
demand through the promotional activities of the units (e.g., retailers, manufacturers' representatives, sales of-
fices, and wholesalers) comprising them.
4. The major focus of marketing channel management is on delivery. Producers of goods (including manufac-
turers of industrial and consumer goods, legislators, educational administrators and insurance companies) are
individually capable of generating only form or structural utility for their «productsy.
3aBepUInTe YTBEPKICHUE COTJIACHO COJIEPKAaHUIO TEKCTA.
Marketing channels raise demand through the joint efforts of ...
1 retailers, wholesalers and sales offices
2 hospitals, laboratories, insurance companies
3 legislators, educational administrators and insurance companies
4 retailers, insurance companies and legislators
OTBeTbTE HA BOIPOC:
What does the structure of channel outlets consist of ?
1 It consists of establishments through which the goods are delivered to consumers.
2 It consists of a number of individual consumers and organized buyers.
3 It consists of a set of hospitals, laboratories, insurance companies, and drugstores.
4 It consists of legislators, educational administrators and insurance companies.
Ormpeienute OCHOBHYIO UCIO TEKCTA.
1 Marketing channel is a complex network of joined independent organizations with the purpose of deliver-
ing goods and services and increasing demand.
2 Marketing channels stimulate demand through the promotional activities of retailers, manufacturers' repre-
sentatives, sales offices, and wholesalers.
3 Public and private goods could be available for consumption only through distribution through different
marketing channels.
Legislators, educational administrators and insurance companies use the channels of marketing to distribute
their products.

IIpuMepHBbIE TECTbI

Tema 1. Management

1. The country’s economy is in crisis. Unemployment quickly.
a) isrising
b) rises
C) rose
2. If I knew anything about the matter, | you.
a) will tell
b) would tell
c¢) would have told
3. The line was shut down for two hours as a result of damaged machinery.
a) production
b) delivery
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¢) control

4. The unemployment is the percentage of the labour force which is out of work.
a) rate

b) product

C) average

5. As the field survey shows, very customers (about 6 %) find the design of our goods attractive.
a) little

b) few

c) afew

6. A successful manager must be in his/her own ability to deal with difficult situations and show the
qualities of leadership.

a) confident

b) initiative

c) accountable

7. The Intel Corporation is biggest producer of microchips.

a) a

b) the

c) an

8.1 on the final report all day yesterday. Tomorrow I'm making a presentation.
a) had worked

b) have been working

c) was working

9. Information on prices is available to brokers throughout the world.

a) share

b) market

c) trading

10. Our new packaging is attractive the previous one. As the result the sales have risen
this month.

a) as...as

b) more ... than

C) most ...as

4.2 DoHJ O1LIEHOYHBIX CpPpEaACTB 1Jisl MIPOBEICHUS l'[pOMe)KyTO‘-lHOﬁ arrecranuu

KounrtpoabHnas padora
2 cemecTp

BapuanTt BbiOupaeTcs o nocieanel uudpe 3auetHoil kHxkku: 1-Bapuant 1, 2-Bapuanr 2, 3-Bapuanr
3, 4-Bapuanrt 4, 5-Bapuanr 5, 6-Bapuant 6, 7-Bapuant 7, 8-Bapuanrt 8, 9-Bapuant 9, 0-Bapuanr 10.

Kaxxnast pabota BbINIOJIHSAETCS B IEYaTHOM BHJI€ Ha TUcTax (popmara A4. TUTynbHbIN THCT 0dopMIseT-
csi mo obmuM TpeboBaHUAM. [Ipu BBIMOIHEHUM KOHTPOJBHOM paldOoThI CleAyeT MOJIHOCTHbIO NEepenuchIBaTh
(bopMynpoOBKY 3a/1aHuil. BeINonHSA epeBo TeKCTa, clielyeT cHavasla MucaTh Ha3BaHWe TeKCTa MO-aHIJIMHCKH
C TEePEBOIOM, a 3aTeM YepeoBaTh ad3allbl TEKCTA U UX MEPEBO/.

Ecnu BbIOSTHEH HECOOTBETCTBYIOUIMM BapuaHT, paboTa HENMPaBHWIBHO O(opMIIeHa WIIM BBIIIOJHEHA HE
MOJTHOCTBIO, OHA BO3BpaInaeTcs Uit fopadboTku. Eciu paboTta He 3auTeHa, ee cieayeT BhIIOJHUTD 3aHOBO, YUU-
ThIBasl 3aMEYaHUs PEIIeH3EHTa

Variant 1.
I Read the following text and translate it in writing:
ENTREPRENEURSHIP

An entrepreneur organizes an enterprise. He also takes the risk of a business in return for the profits. He
buys the workers' products (their labour services). The workers receive wages in return for their work. An en-
trepreneur also introduces new products or processes. He identifies markets and sources of supply.

In many cases, owners delegate decisions to managers. Is a salaried manager an entrepreneur, too? Some
people think that owners very seldom delegate a key decision to managers, because owners do not trust them.
But in practice many subordinates have incentives to maintain the company's well-being because their pro-
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motion depends upon it. In this sense, both owners and managers can be entrepreneurs. So, an entrepreneur is
either an owner or a manager who shows judgement in decision making.

Judgement helps to make successful decisions. An entrepreneur needs judgement to speculate on future
price movements, as well as to deal with the novel situations.

The demand for entrepreneurs rises in times of political, social, and environmental change. Supply usually
matches demand, so more people give up other careers and become entrepreneurs. They have incentives to do
so by the higher expected rewards, and also by increases in the social status of entrepreneurs.

The supply of entrepreneurs depends also on their personality, culture, and life experience.

To identify profitable opportunities the entrepreneur synthesizes information from different sources. A
good education and wide-ranging practical experience helps the entrepreneur to interpret information. Sociabil-
ity also helps the entrepreneur to make contact with people he works with — both customers and colleagues.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Who organizes an enterprise?

2) Why does he take the risk of a business?

3) What do the workers receive in return for their work?

4) What does the businessman identify?

5) Who do owners delegate decisions to?

6) Is a salaried manager an entrepreneur, too?

7) Why do some people think that owners very seldom delegate a key decision to managers?
8) Why do many subordinates have incentives to maintain the company's well-being?
9) What does the subordinates' promotion depend upon?

10) What do the owners show judgement in?

2. Fill the blanks with the words from the text.

1) An entrepreneur an enterprise.
2) He takes the risk of a business in for the profits.
3) He buys the workers' services.
4) The workers receive in return for their work.
5) An entrepreneur new products or processes.
6) He identifies and sources of supply.
7) Owners delegate decisions to .
8) Owners very seldom a key decision to managers.
9) Many subordinates have to maintain the company's well-being.
10) A manager shows in decision making.
3. Match the parts of the sentences to each other.
1) An entrepreneur organizes a) decisions to managers.
2) He also takes the risk of b) managers.
3) The workers receive C) new products or processes.
4) An entrepreneur also introduces d) a business in return for the profits.
5) He identifies e) an enterprise.
6) Owners delegate f) a key decision to managers.
7) Owners very seldom delegate g) markets and sources of supply.
8) Owners do not trust h) wages in return for their work.
9) Subordinates have i) judgement in decision making.
10) A good manager shows J) incentives to maintain the company's well-
being.
4. Find the English equivalents of the following Russian words in the text:
1) mpeanpuHUMATEH 11) ucrounux
2) KIII0YEBOE PEIICHUE 12) nocraBku
3) mpuHATHE PElIeHUs 13) nenerupoBarhb
4) opraHu30OBBIBATH 14) pemenne
5) ompenensaTh 15) Bo3Bpaiarh
6) KiIrOuYeBOM 16) mpuOBLIH
7) cyxaeHue 17) pabouas cuna
8) mobyxmeHune 18) obcmyxuBaHue
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9) pbIHOK 19) mognep>xuBath

10 mpuHUMATBH PUCK 20) npoaBUXeHUE

5. Translate the following sentences into English.

1) IIpennpuuumarenb OepéT Ha ceOs PUCK, CBSI3aHHBIN ¢ OM3HECOM, HA/IEACh HA MOJyYEHHE TPUOBLIH.

2) Paboure moay4aroT 3apriaTy B OOMEH Ha CBOIO paboTy.

3) IlpeanpuHUMATEh TAKXKE BBIBOIUT HA PHIHOK HOBBIC MPOYKTHI.

4) Bo MHOTHX Clly4asiX BJIaJeJIbIIbl JCICTUPYIOT MEHEDKEPaM IPaBO MPUHSITHS PEIICHUH.

5) Bunazenbiibl He JOBEPSIOT MEHEKEPaM.

6) IlpeanpuHUMATEIO0 HEOOXOIUMBI CIIOCOOHOCTH K CAMOCTOSITEIIbHOMY CYXICHHUIO, 4TOOBI IPEABUICTH OY-
IyIIre U3MEHEHHUS TICH.

7) Cnpoc Ha npeAnpHHUMATENei BO3pacTaeT BO BpeMEHa MOJIMTHUCCKUX MIEPEMEH.

8) IlpemnoxkeHne 0OBIYHO COOTBETCTBYET CIIPOCY.

9) Ux moruBalust — 0oJiee BBICOKOE 0XKH1aeMOE BO3ZHATPaXKICHHUE.

10) YtoObl OnpeieuTh MPUHOCSIIUE BHIFOAY BO3MOXKHOCTH, MPEIIPUHUMATEb CHHTE3UPYET HH(OOPMALIUIO U3
Pa3JINIHBIX UCTOYHUKOB.

Il Translate the following dialogues from Russian into English:

1. A: Ilpuser!
B: Ilpuser!
A: Kax 1e0s 30ByT?
B: Anekc. A 1e6s?
A: Jlxon. Otkyna Tel, Anekc?
B: A wu3 Poccun. A th1?
A: A g u3 BenukoOpurtanuu.
B: TIlpusrao ¢ To60¥ 03HaKOMHUTHCS, J[PKOH.
A: BzaumHo.

2. A: Bbsl3necs no genam wid Ha OTAbIXE?

B: [Ilo nemam.
A: Bbl 31€ch B 11epBbIii pa3?
B: Her, g Obu1a 31€CH MHOTO pas3.
A: Bawm 3nece HpaButcs?
B: HopmansHo.

3.  A: Ckomnbko BaMm neT?
B: MHe copok Tpu.
A: Bpi xeHatb1?
B: Her, u HuKorma He ObLI.
A: Uewm BbI 3aHUMaeTECH?
B: A nokrop.
A: Bawm HpaBurcs Bama pabora?
B: /[la, oueHb HpaBHTCH.
A: A deM BbI 3aHUMAaeTeCh B CBOOOHOE OT paboThI Bpemsi?
B: S mo6uro €34Tk Ha CIOpPTKapax v TOTOBUTh.

Variant 2.
I Read the following text and translate it in writing:
PROPERTY RIGHTS

The fundamental requirement of a market economy is a strong system of property rights.

A property right is the exclusive authority to determine how to use and service a resource. Thus, for ex-
ample, the owner of an apartment with complete property rights to the apartment has the right to determine
whether to rent it out or to live in it himself. He has the right to determine which tenant to rent the apartment to.
He can also use it in any other peaceful way. If the owner rents out the apartment, he also has the right to all the
after-tax rental income from the property.

A private property right includes the right to delegate, rent, or sell any portion of the rights by exchange or
gift at the price the owner determines. If I am not allowed to buy some rights from you and you therefore are
not allowed to sell rights to me, private property rights are reduced. Thus, the three basic elements of private
property are (1) exclusivity of rights to the choice of use of a resource, (2) exclusivity of rights to the services
of a resource, and (3) rights to exchange the resource at mutually agreeable terms.

15



The market values of property reflect the preferences and demands of the rest of society. This creates an in-
teresting paradox: although property is "private,” owners make private decisions in accordance with public, or
social, evaluation of their property. Thus one cannot sell his or her house at a price which is higher than the
market price.

The fundamental purpose of property rights is that they eliminate destructive competition for control of
economic resources. Well-defined and well-protected property rights replace competition by violence with
competition by peaceful means.

Private property rights do not conflict with human rights. They are human rights. Private property rights are
the rights of humans to use specified goods and to exchange them. Private property rights protect individual lib-
erty.

Under socialism private property rights are reduced. Here government agents control resources. The rights
of these agents to make decisions about the property they control are highly restricted. People cannot put the re-
sources to more valuable uses by purchasing the rights because the rights are not for sale at any price. As so-
cialist managers neither gain when the values of the resources they manage increase, nor lose when the values
fall, they have little incentive to work. Consider, in this case, the socialist manager of a collective farm. If he
works every night for one week, he can make, say, 1 million rubles of additional profit for the farm by arrang-
ing to transport the farm's wheat to the city before it rots. But if neither the manager nor those who work on the
farm can keep even a portion of this additional profit, the manager is more likely to go home early and let the
crops rot.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the fundamental requirement of a market economy?

2) What is a property right?

3) What rights may the owner of an apartment have?

4) What income does the owner of an apartment have the right to?
5) When are the property rights reduced?

6) What are the three basic elements of private property?

7) Whose preferences and demands do the market values of property reflect?
8) Under what system are private property rights reduced?

9) Who controls resources under socialist system?

10) Why don’t socialist managers have incentives to work?

2. Fill the blanks with the words from the text.

1) The fundamental of a market economy is a strong system of property rights.

2) A property right is the authority to determine how to use and service a resource.

3) The owner of an apartment has the right to whether to rent it out or to live in it.
4) He has the right to determine which to rent the apartment to.

5) He can also use it in any other way.

6) If the owner out the apartment, he also has the right to all the income.

7) A private property right the right to sell any portion of the rights."”

8) If you are not allowed to sell rights to me, private property rights are

9) One of the three basic elements of property is exclusivity of rights.

10) Another element is the of rights to the services of a resource.

3. Match the parts of the sentences to each other.
1) The fundamental requirement of a market econ-  a) the after-tax rental income.

omy is b) it out or to live in it himself.

2) A property right is c) the exclusive authority to determine how
3) The owner of an apartment has to use a resource.

4) The owner can determine whether to rent d) you, private property rights are reduced.
5) He can also use it in e) mutually agreeable terms.

6) He also has therighttoall f) the choice of use of aresource.

7) A private property right includes theright g)a strong system of property rights.

to sell h) complete property rights to the apartment.
8) If I am not allowed to buy some rights from i)any portion of the rights.

9) Owners have exclusive rights to j)any other peaceful way.

10) We can exchange the resource at
4. Find the English equivalents of the following Russian words in the text:
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1) 1eHHOCTh 11) monoTHUTEILHBIN

2) TpeArnoYTeHUE 12) nmenuna

3) co3maBaTh 13) Ha nmponaxy

4) oreHka 14) coznaBaTth

5) yHHUYTOXATh 15) B cooTBeTCTBUM
6) pa3pyiMTeIbHbIH 16) cBoboa

7) ’KeCTOKOCTb 17) rauTh

8) 3ameHATH 18) nieHHbIiI

9) uenoBeueckuit 19) orpannumnBaTh
10 copeBHOBaHUE 20) uenp

5. Translate the following sentences into English.

1) CoOCTBEHHHK OTNpPECIsIeT, Kak UCIOIb30BaTh H 00CITY)KHUBATh PECYpC.

2) S cam xuBYy B MOell COOCTBEHHOM KBapTHUPE.

3) CoOCTBEHHHMK MOXET CllaBaTh KBapTUPY B apCHIY.

4) CoOCTBEHHHK MOYET TaKXke PacropsKaThbCsi CBOCH COOCTBEHHOCTHIO JIFOOBIM MUPHBIM CIIOCOOOM.
5) CoOCTBEHHHK OJYYaeT BECh JOXO OT apCHIbI MOCIIE YILIAThl HAJIOTOB.

6) CoOCTBEHHHMK MOXET IPOJATh JIFOOYIO YacTh CBOMX IPaB Ha COOCTBEHHOCTb.

7) TIpaBUTENBCTBO MOYKET OTPAHUYMTH HAIIHM MTPaBa Ha COOCTBEHHOCTb.

8) MbeI o0ciy:)KuBaeM MMEIOIIMECS B HAIIC COOCTBEHHOCTH PECYPCHI.

9) CoOCTBEHHHMKH YaCTO OOMEHHBAIOTCS PECYPCAMHU Ha B3aHMOTIPHEMIIEMBIX YCIIOBHSIX.
10) Cnpoc Ha mpennpuHUMaTelIeld BO3pacTaeT BO BPEMCHA MEPEMEH.

Il Translate the following dialogues from Russian into English:

1. A: Bswicryaeat?
B: /[a, s u3y4yaro 5KOHOMUKY B YHUBEPCUTETE.
A: Y Bac ecTb Kakas-HHOYb paboTa ¢ YaCTHYHON 3aHATOCTHIO?
B: /la, s paboTato odUIIHAHTOM.
2. A: JlaBaiitTe cxomuMm Kyna-HHOyIb MOy)XHHaeM. Sl 3HAaI0 OYEHb XOPOIIMH STIOHCKUH pe-
B: cropan.
A: 3Byunt 3aMaHuuBO! S oueHb OO0 ATMOHCKYIO KYXHIO.
B: Tlouemy Thl m00UIIb AMOHCKYIO KyxHIO? ThI TyMaenis oHa nose3Has?
Koneuno. B Heli MHOTO CBEKHX MOPENPOAYKTOB U PUCA.
3. A: Bbl 0ueHb XOpOLIO TOBOPUTE MO-HEMELIKH.
B: Cnacubo.
A: TI'ne BeI ero yunnu?
B: Mos nepBas >xeHa Oblj1a HEMKOH.
A: A xako# Bai poJHOM SA3bIK?
B: HranesHCckwuil.
Variant 3.
I Read the following text and translate it in writing:
COMPETITION

Competition permeates economic life. Prices, wages, methods of production, types and quantities of
products, the size and organization of business firms, the distribution of resources, and people's incomes all re-
sult from competitive processes.

Consider market prices for consumer goods. The baker has on hand a stock of bread, a valuable good for
which consumers are willing to compete by offering the baker a price. The baker wants to get the highest price
possible, but he is constrained. If he sets his price too high, customers will not buy all that the baker has pro-
duced. They will buy from another baker, or they will buy pizza or potatoes instead. So the baker sets a price
that he thinks will "clear the market.” That price is determined by the willingness of customers to compete for
his product, and by the willingness of rivals to compete for his customers.

An identical process occurs with producer goods. A steel plant has on hand a supply of steel, for which
automobile companies, appliance makers, and equipment manufacturers are competing. The firm wants to get
as much revenue as it can, taking into account the willingness of its customers to pay and the threat of lower of-
fers from its rivals. The customers want to pay as little as possible, taking into account that rival customers may
outbid them. This two-sided competition will again set a price that "clears the market." The market-clearing
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price represents the lowest price that buyers of steel must pay, and the highest price that sellers of steel can re-
ceive, each without being outbid by rivals.

Competition also determines incomes and allocates goods. Competition acts as both stick and carrot in
economic life. If the worker does not keep his hands to the machine, his employer will replace him. If the em-
ployer does not treat his employee as well as other employers would, the employee quits and goes somewhere
else. If the manufacturer does not run his shop efficiently, his customers will go where they can find better ser-
vice at the same price or equal service at a lower price. All of us, as producers, can be replaced by those who
are able and willing to do the job better or cheaper.

On the other side, if we do our jobs well, we are more likely to get a good reward. The successful manu-
facturer has more customers and increases his revenues. The productive worker gets higher wages and more re-
sponsibility.

Market creates competition. Competition creates incentives. Incentives create better skills and higher
productivity. Productivity creates higher profits for manufacturers and higher rewards for workers. Thus, com-
petent work is better rewarded in market economies than in planned or bureaucratic ones. This is why compe-
tence is higher in countries with market economy. Now, when firms in the two parts of Germany can openly
compete, the Wartburg and Trabant have lost out to Opel and VVolkswagen.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What results from competitive processes?

2) What does the baker have on hand?

3) How do comsumers compete for the baker's good?
4) What price does the baker want to get?

5) Why is he constrained?

6) What will happen if the baker sets his price too high?
7) Who competes for steel?

8) What does the firm take into account?

9) How much is the customer willing to pay?

10) What is the market-clearing price?

2. Fill the blanks with the words from the text.

1) Competition economic life.

2) All result from processes.

3) The baker has on a stock of bread.

4) Consumers are willing to for the baker's product.

5) The baker wants to get the highest possible.

6) The baker sets a price that will ™ the market."

7) That price is by the willingness of customers to compete for his product.
8) The customers want to pay as little as

9) The firm wants to get as much as it can.

10) The market-clearing price the lowest price that buyers must pay.

3. Match the parts of the sentences to each other.
1) Prices, wages, and methods of production result from a) producer goods.

2) The baker has on hand b) as much revenue as it can.

3) Consumers are willing to compete for C) a price that "clears the market."”
4) The baker wants to get d) a stock of bread.

5) Customers will not buy e) competitive processes.

6) An identical process occurs with f) the highest price possible.
7) A steel plant has onhand g) the baker's product.

8) The firm wants to get h) a supply of steel.

9) The customers want to pay i)all that the baker has produced.
10) This two-sided competition will again set J) as little as possible.

4. Find the English equivalents of the following Russian words in the text:

1) pa3memars 11) «xHYT U IPSIHUK»

2) HaHMMAaTeb 12) ynpaBisaTh nexom

3) Ha&MHBIIi pPabOTHUK 13) morpeOutens

4) ¢ dexTuBHBII 14) konuyecTBO
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5) mecto paboThI 15) KOHKYpEeHT

6) ycnemHbIi 16) npousBoaAUTENH
7) OTBETCTBEHHOCTh 17) BeIpyuKa, 10X0[T
8) HaBbIK 18) nepebuBath 1ieHy
9) OropoKpaTHUECKUI 19) npennoxxenue

10 xomnereHnus 20)

5. Translate the following sentences into English.
1) KoHKypeHIIUs onpeneiseT JOXObl U pacipee/icHIe TOBapOB.
2) KonkypeHuus IeHCTBYeT KaK KHYT U MPSHUK YKOHOMUYECKOW JKU3HHU.
3) Bce MbI, kKak paOOTHHUKH, MOXKEM OBbITh 3aMEHEHBI TEMH, KTO CIIOCOOCH M XKeJIaeT Je/iaTh padoTy JIydIIe Win
C MEHBILIMMHU 3aTpaTaMu.
4) Ecnu MbI fieiiaeM Hairy paboTy XOpOIIIO, Mbl, BCEI'O BEPOSATHEE, MOJYIUM XOPOIIIee BO3HATPAXKICHHUE.
5) VYcnemHsbli MpOU3BOIUTENb UMEET OOJIBIIE TIOTPEOUTENCH U YBEITMYUBACT CBOIO MPHOBLID.
6) IIpomykTuBHBIN paboumii mOTydaeT O0JIee BHICOKYIO 3apIliaTy H HECET OOJIbIIYI0 OTBETCTBEHHOCTb.
7) PpIHOK c0371aéT KOHKYPEHIIHUIO.
8) KonkypeHiust co31aéT MOTHBAIIHIO.
9) IIpou3BOAMTENHLHOCTh TPyJa CO34aéT OOJiee BHICOKHME MPHOBUIM JUIS MPOU3BOAUTENSI U 0OJee BBICOKOES
BO3HArpaxaeHue 1 paboTHUKOB.
10) IToaTomMy ypOBEHb KOMITETCHIIUH BBIIIC B CTPAHAX C PHIHOYHON 3KOHOMHUKOIA.
Il Translate the following dialogues from Russian into English:

1. A: Y mens Her OpaTbeB U CecTEP, HO €CTh JIBA JBOOPOIHBIX Opara.
B: Brbl nogaepxxuBaeTe ¢ HIMH KOHTAKT?
A: Jla, oHM XMBYT 3a TpaHHIIEH.
B: BprbI e3nure k Hum?
A: S e3mun oquH pas.
2. A: Cerogns xapko?
B: Her, cerogas noBoiabpHO X0JI0aH0. M, moxoxke, mOUAET J0KIb.
A: Bawm HpaBuTcs, KOraa UIET A0KIAb?
B: [la, s odeHsb 00110, KOTZIa UIET TOKIb.
3. A: Kak npomuuio Bame nocieanee myremecrtsue Ha banu?
B: O, aTo 6p110 IpekpacHo!
A: bbuio xapko?
B: [a, 661510 04eHB 3KapKoO.
A: Yrto BBl nenanu?
B:  VYT1po MBI npoBOAMIIN Ha TUISIKE, a MOCe 00ena Opanu MalluHy HAMPOKAT M €3/WIU 10 OKPY-
re.
Variant 4.
| Read the following text and translate it in writing:
PRIVATIZATION

Privatization is the process by which the production of goods or services is removed from the govern-
ment sector of the economy. This can be done either by the public sale of shares in a previously state-owned
enterprise, or by the use of private businesses to do government work under contract.

The leader in this strategy was the Thatcher government of Great Britain from 1979 to 1990. Previous
governments had tried limited denationalization (the restoration of nationalized enterprises to their previous
owners), but with limited success. Privatization involved totally new owners. In some cases the state enterprises
that were "privatized" had never been in the private sector.

Because state-owned companies have no profit motive, they have no incentive to produce goods that
consumers want, and to do so at low cost. In addition, even if they want to satisfy consumer demands, they have
no idea of what consumers want.

The result is misallocation of resources. Management responds to political, rather than to commercial,
pressures. The capital assets of state businesses are often of poor quality because the governments are not inter-
ested in the renewal of capital equipment.

Before the British water industry was privatized in 1989, it was undercapitalized by over $11 billion. As
the result the water supply failed to meet European standards for quality and safety. Similarly, the post office
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had cut back its services. First telegrams disappeared, then Sunday collection, then Saturday second delivery.
These changes made life easier for producers at the expense of service to consumers. Most serious of all, the
losses of state industries consume funds that are needed for private investment.

The British privatization of nearly four dozen major businesses and several hundred small ones was a
success. Privatized British industries outperformed the market average once they entered the private sector, and
the privatized stocks rose in value faster than the stock market average.

Following the collapse of communism in eastern and central Europe, first Poland, Hungary, and Czech-
oslovakia, then Romania and several of the former Soviet republics began to privatize. The problems in these
economies were very different from those faced by the advanced economies. Decades of low wages meant that
little wealth was available for investment, and no stock markets existed on which to make sales. Very of-
ten, there were no laws to protect or even permit private ownership, much less the supporting infrastructure of
contract law and financial support services such as banks and accountants.

For this reason the formerly socialist economies found themselves forced to blaze a new trail of privati-
zation, sometimes using the distribution of "coupons” to the population as a means of spreading ownership.
Very often some degree of "informal™ privatization was permitted, in which management effectively expropri-
ated what had been state property. Unlike Britain, which had about 10 percent of its economy in state hands and
had sold three-fifths of it over ten years, the socialist countries were now faced with privatizing 60 to 80 percent
of their economies within half that time.

Still new capitalist countries learned from the experience of their early leaders. These included the tech-
niques of writing off past debts, allocating shares to workers, splitting monopolies into competing elements, and
establishing new regulatory agencies to calm public fears about the behaviour of the newly privatized opera-
tions.

By restoring market incentives and commercial reality, privatization revived state-owned industries. It
diverted billions of dollars from the support of loss-making government concerns into the expansion of wealth-
creating private businesses.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Where is the production of goods or services removed from by means of privatization?

2) How can a government remove the production of goods and services from the government sector of the
economy?

3) Who was the leader in this strategy in the years from 1979 to 1990?

4) What denationalization strategies had the previous governments tried?

5) Why don't state-owned companies have incentives to produce goods that consumers want, and to do so at
low cost?

6) What pressures does the management of the state-owned companies respond to?

7) By how much had the British water industry been undercapitalized in 1989?

8) In what way had the British post office cut back its services?

9) How many major businesses were privatized in Britain in the Thatcher's years?

10) How did the privatized industries perform on the market?

2. Fill the blanks with the words from the text.

1) Goods or services are removed from the sector of the economy.

2) The government sells shares in a previously enterprise.

3) Weuse businesses to perform government work under contract.

4) The leader in this was the Thatcher government of Great Britain.

5) Previous governments had tried denationalization, but with limited success.

6) Because state-owned companies have no motive, they have no incentive to produce goods.

7) Even if they want to consumer demands, they have no idea of what consumers want.
8) Management to political, rather than to commercial, pressures.

9) The capital of state businesses are often of poor quality.

10) The governments are not interested in the of capital equipment.

3. Match the parts of the sentences to each other.

1) The British water industry was a) funds that are needed for private investment.

2) As the result the water supply failed to meet  b) a success.

3) The post office had cut back C) privatized in 1989.

4) These changes made life easier for d) European standards for quality and safety.

5) The losses of state industries consume e) the market average once they entered the private sec-
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6) The British privatization of major businesses  tor.
was
7) Privatized British industries outperformed g) its services.

8) The privatized stocks rose in h) value faster than the stock market average.
4. Find the English equivalents of the following Russian words in the text:

1) kpymeHue 11) BoccTaHaBIMBAaThH

2) nekaja, IeCATUIICTHE 12) Bo3pok1aTh

3) 6orarcTBO 13) KOHTpaKTHOE MPaBO

4) coOCTBEHHOCTS, BiazeHue 14) ciyx6a GrHAHCOBOTO

5) KOHTpakT 15) mpou3BoOANTH MPOJAKY

6) Oyxramrep 16) yObITOUHBII

7) KyIIOH, «Bay4ep» 17) npuOBLILHBIMA

8) MoHormous 18) mosHOCTBIO

f) producers at the expense of service to consumers.

9) ycraHaBnMBaTh 19) HenpaBuIIbHOE paclpeneIeHe
10 arenTcTBO 20) akTuBBIL, HhOHIBI
Translate the following sentences into English.
DTO MOXKET OBITh CAENAHO MYyTEM ITyOJIUYHBIX TOPIOB.
YacTHble NpeAnpUsTUs UCTIOJHAIOT MOPYyYaeMylo IIPaBUTEILCTBOM PabOTy IO KOHTPAKTY.
[Ipenpiaymme mpaBUTETHCTBA MBITATUCH HPOBECTH OTPAaHUYECHHYIO ACHAITMOHAIN3ALIHIO.
[Iponecc npuBaTU3aMK IPUBIEK COBEPLIEHHO HOBBIX BIIA/IETIbIIEB.
OTU TnpeAnpusTHS HUKOIAa HE ObLIM B YaCTHOM CEKTOPE.
Y HUX HET MOTHMBAallUM K IPOU3BOJCTBY TOBapOB C HU3KOH CE0ECTOMMOCTHIO.
Pe3ynbrar — HeBepHOE paclpeieeHle PECYpPCOB.
OcHoBHbIE (DOH/BI TOCYJAPCTBEHHBIX MPEANPHUITUN OTIIMYAIOTCA HU3KUM KaueCTBOM.
[TogoOHBIM 00pa3oM mouTa coKpaTuia 00bEM CBOMX YCIIYT.
10) Dtu u3MeHEeHHUs CENaIU KU3HB JUTS IPOU3BOAUTENICH Jierde 3a CYET moTpeduTeseH.

Il Translate the following dialogues from Russian into English:

S.
0y
2)
3)
4)
5)
6)
7)
8)
9)

1.

> W >

TR 2OrT>

MHe HpaBATCS TBOM YacChl.

[TpaBna? MHe Toxe HpaBsTcs. S Kynuiia ux B 1pt0Tu GpH, Korja jerena us [lapmxa.

Omnu BeIMIIAAT JOoporo. CKOJIBKO ThI 3arjiaTuia?

Onu 6b11 B pacniponaxe. S 3amnatuna Becero 300 eBpo. IlepBonavanbHas neHa 6wi1a 490 eB-
po.

VYV 1ayHas nOKymKa.

ITpuset! A [Ixexk.

[Tpuset! A JIuza. 5 u3z ExatepunOypra. 3to B Poccun. A 1b1?

A s u3 @panuun. [IpuarHo ¢ To60it mozHakoMuThCs, JInza.

B3anmHo.

UeMm BBl 3aHUMAETECH?

S1 rmaBHBIM OyXrajnTep Ha IOBETUPHOM 3aBOZIE. A BBl €M 3aHUMAETeCh?

A crynent ropunnyeckoro ¢akynbrera. M y MeHs ectb noapaboTka B HOTapualbHON KOHTOpE
(at a lawyer’s office).

Variant 5.

| Read the following text and translate it in writing:

ture.

MICROECONOMICS

Microeconomics deals with supply and demand, and with the way they interact in various markets. Mi-
croeconomic analysis lies at the centre of most of the recognized subfields of economics. Labour economics,
for example, is based largely on the analysis of the supply and demand for labour of different types. The field of
industrial organization deals with the different mechanisms (monopoly, cartels, different types of competitive
behaviour) by which goods and services are sold. International economics worries about the demand and supply
of individually traded commodities, as well as of a country's exports and imports taken as a whole. It also deals
with the demand for and supply of foreign exchange. Agricultural economics deals with the demand and supply
of agricultural products, and of farm land, farm labour, and the other factors of production involved in agricul-
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Public finance looks at how the government enters the scene. Traditionally, its focus was on taxes, but
more recently, public finance has reached into the expenditure side as well, attempting to analyze the costs and
benefits of different public programs. Applied welfare economics deals with the costs and benefits of just about
anything — public projects, taxes on commodities, taxes on factors of production (corporation income taxes,
payroll taxes), agricultural programs (like price supports and acreage controls), tariffs on imports, foreign
exchange controls, different forms of industrial organization (like monopoly and oligopoly), and various as-
pects of labour market behaviour (like minimum wages, the monopoly power of labour unions, and so on).

At the root of everything is supply and demand. In this market process people try to get the most from
what they have to sell, and to satisfy their desires as much as possible. In other words, people are maximizing
their personal "utility,” or welfare. This process helps them to decide what they will supply and what they will
demand. The competitive supply price represents value as seen by suppliers, and competitive demand price rep-
resents value as seen by demanders.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does microeconomics deal with?

2) What is labor economics based on?

3) What does the field of industrial organization deal with?

4) What does international economics worry about?

5) Who deals with the demand for and supply of foreign exchange?

6) What factors of production does the agricultural economics deal with?

7) What was traditionally public finance interested in?

8) What is public finance trying to analyze now?

9) What is applied welfare economics?

10) What lies at the root of everything in microeconomics?

2. Fill the blanks with the words from the text.

1) Microeconomics deals the way supply and demand in various markets.

2) This type of analysis lies at the center of most of the recognized of economics.

3) Labour economics is based largely on the of the supply and demand for labor
of different types.

4) The field of industrial organization deals withthe different
vices are sold.

5) International economics worries about the demand and supply of individual traded

6) International economics a country's exports and imports taken as a whole.
7) Who deals with the demand for and supply of exchange?

8) Agricultural economics worries about the demand and supply of products.

9) What factors of production are in agriculture?

10) Public finance looks at how the government__ the scene.

by which goods and ser-

3. Match the parts of the sentences to each other.
1) Traditionally public finance had
2) More recently, public finance has

a) value as seen by suppliers.
b) supply and demand.

3) The economists are attempting to analyze

4) Applied welfare economics deals with the costs and
benefits of

5) What subfield of economics deals with taxes on
6) The government controls agricultural programs
like

7) At the root of everythingis

8) In this market process people try to get

9) People are maximizing their

10) The competitive supply price represents

c) the costs and benefits of different pub-
lic programs.

d) its focus was on taxes.

e) reached into the expenditure side.

f) public projects.
g) commodities
of production?

h) personal "utility," or welfare.

i)the most from what they have to sell.
J) price supports and acreage controls.

and taxes on factors

4. Find the English equivalents of the following Russian words in the text:

1) umerts neno

2) B3aUMOJICHCTBOBATH
3) pabouas cuia

4) TPOMBIILICHHBIH

12) manor

13) pacxompl, 3aTpaThl
14) npuOkuIb, BHITOIA

11) oOpabaTbiBacMble 3eMENbHBIC YTOAbS



5) Toprosius 15) 6marococrostare, 6OraTcTBO

6) skcmopt 16) noxon

7) uMnopr 17) nnaTéxHas BEIOMOCTb, CIIMCOK
8) cenbckoxo3siicTBeHHBIH  18) 3apruiata

9) duHaHCHI 19) KOHKYpEHTHBII

10 BXOOWTH, BCTYMATH 20) nocTaBIINK

5. Translate the following sentences into English.
1) MuUKpPOIKOHOMHKA 3aHHMAETCs HPOOJIeMaMM MPEAJIOKEHHS W CIIPOca, a TaKKe BOINPOCAMU HX B3au-
MOZICICTBUS HA Pa3JIMYHBIX PBIHKAX.
2) DKOHOMHKA TpyJla OCHOBAaHA B 3HAUUTENHHOI CTEIIEHH HA aHAJM3E IPEIUIOKECHUS U CIIPOCa PA3IMYHBIX TH-
1oB paboueil CuJbl.
3) MexayHapoaHasi SKOHOMHKA 03a004eHa BOIIPOCAMH IIPEIUIOKEHUS U clipoca B chepe IKCIOpPTa U UMIIOPTA.
4) DKOHOMHKA CEILCKOTO XO3SCTBA MMEET JIENIO C Pa3IMUHBIMKU (PaKTOpaMHU CETbCKOXO03IHCTBEHHOTO TPOU 3~
BOJICTBA.
5) TpaaMuUMOHHO HHTEPEC IKOHOMHUKH rOCYAapCTBEHHBIX (DMHAHCOB JIeKa B chepe HaJIorooOI0KEeHuSI.
6) B ocHOBe Bcero JexHUT MPEATI0KEHUE U CIIPOC.
7) DKOHOMHKA CEJIBbCKOT0 X035CTBA 3aHUMAETCS] BOIIPOCAMH KOHTPOJIS 33 pa3MepaMy MOCEBHBIX IUIOLIAICH U
KOHTPOJIEM LIEHOOOpa30BaHusl.
8) KOHKprHTHaﬂ HOCHA IMOCTaBIIUKa IMPEACTABIIACT CTOMMOCTD TaK, KaK eé BUJUT IMMOCTAaBIINK, KOHKYPCHTHAA
LIeHa [TOKYIaTeNs MPEICTaBIIeT CTOMMOCTh TaK, Kak €€ BUIUT ITOKYIATelb.
Il Translate the following dialogues from Russian into English:
ITpuset, Com! Kak nena?
Crnacu6o, xopomo! A y Te0s kak aena?
Toxe xopomuio, criacuoo.
Kakas B Bac nmpodeccus?
S menemxep no padore ¢ nepcoHasioM. S paboTaro B O0JIBIION KOMIIaHUM. S BBl YeM 3aHUMa-
eTech?
51 pyKOBOKY CBOMM COOCTBEHHBIM OHU3HECOM.
YeM 3aHHUMAaETCs Ballla KOMIaHUA?
MBI TpoaéM KEHCKYIO OLEKIY.
51 TONTBKO YTO BEPHYJIACh U3 MOE3/IKH.
Kyna BbI e3qunm?
B atot pa3 3to 6b11a ['penus.
CKOJIBKO BBI TaM MpOObLIH?
JlecsaTh THEH.
YeM BBl 3aHUMATUCH?
MBI yTEeIeCTBOBAJIH IO Pa3HBIM OCTPOBAM.
Kakoii ocTpoB BaM noHpaBuics 60JbIie Bcero?
Kput Obu1 caMbIM HHTEpECHBIM MecTOM. Sl Obl XoTena elé pa3 TyAa Moexars.

1.

w
ZIrEETrTI> PTI>T>>T>

Variant 6.
I Read the following text and translate it in writing:
SUPPLY AND DEMAND

The most basic laws in economics are those of supply and demand. Indeed, almost every economic
event is the product of the interaction of these two laws. The law of supply states that the quantity of a good
supplied rises as the market price rises, and falls as the price falls. Conversely, the law of demand says that the
quantity of a good demanded falls as the price rises, and vice versa.

One function of markets is to find "equilibrium™, or "market-clearing" prices that balance the supplies of
and demands for goods and services. An equilibrium price is the one at which each producer can sell all he
wants to produce and each consumer can buy all he demands. Naturally, producers always would like to charge
higher prices. But even if they have no competitors, they are limited by the law of demand: if producers insist
on a higher price, consumers will buy fewer units. The law of supply puts a similar limit on consumers. They
always would prefer to pay a lower price than the current one. But if they successfully insist on paying less
(say, though price controls), suppliers will produce less and some demand will go unsatisfied.
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Economists often talk of supply "curves" and demand "curves.” A demand curve traces the quantity of a
good that consumers will buy at various prices. As the price rises, the number of units demanded declines. That
is because everyone's resources are finite; as the price of one good rises, consumers buy less of that and more of
other goods that now are relatively cheaper. Similarly, a supply curve traces the quantity of a good that sellers
will produce at various prices. As the price falls, so does the number of units supplied. Equilibrium is the point
at which the demand and supply curves intersect — the single price at which the quantity demanded and the
quantity supplied are the same.

Markets in which prices can move freely are always in equilibrium or moving toward it. For example, if
the market for a good is already in equilibrium and producers raise prices, consumers will buy fewer units than
they did in equilibrium, and fewer units than producers have available for sale. In that case producers have two
choices. They can reduce price until supply and demand return to the old equilibrium, or they can cut produc-
tion until supply falls to the lower number of units demanded at the higher price. But they cannot keep the price
high and sell as many units as they did before.

The concept of demand is one of the most important building blocks of economic analysis. When econ-
omists refer to demand, they usually have in mind not just a single quantity demanded, but what is called a de-
mand curve. A demand curve traces the quantity of a good or service that is demanded at successively different
prices.

The most famous law in economics is the law of demand. This law states that when the price of a
good rises, the amount demanded falls, and when the price falls, the amount demanded rises.

It is not just price that affects the quantity demanded. Income affects it too. As real income rises, people
buy more of some goods (which economists call normal goods) and less of what are called inferior goods. Ur-
ban mass transit and railroad transportation are classic examples of inferior goods. The usage of both of these
modes of travel declined dramatically in the US as postwar incomes were rising and more people could afford
automobiles.

Another influence on demand is the price of substitutes. When the price of Toyota Tercels rises, all else
being equal, demand for Tercels falls and demand for Nissan Sentras, a substitute, rises. Also important is the
price of complements, or goods that are used together. When the price of gasoline rises, the demand for cars
falls.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What are the basic laws of economics?

2) What does the law of supply state?

3) What does the law of demand say?

4) What is the equilibrium price?

5) What prices would the producers like to charge?

6) What is a “demand curve”?

7) What does the “supply curve” trace?

8) Where do the demand and supply curves intersect?

9) What happens if producers raise prices in the market which is already in equilibrium?
10) What happens if the producer supplies more goods than is demanded by customers?
2. Fill the blanks with the words from the text.

1) The most basic laws in economics are of supply and demand.

2) Every economic event is the product of the of the laws of supply and demand.

3) The law of demand says that the of a good demanded falls as the price rises.

4) One function of markets is to find " " prices that balance the supplies of and demands for
goods and services.

5) An equilibrium price is the one at which each can sell all he wants to produce and each con-
sumer can buy all he demands.

6) Producers always would like to higher prices.

7) If producers insist on a higher price, will buy fewer units.

8) The law of supply puts a similar on consumers.

9) Consumers always would prefer to pay a lower price than the current one.

10) Economists often talk of supply " " demand "

3. Match the parts of the sentences to each other.

1) A demand curve traces the quantity of a) equilibrium or moving toward it.

2) As the price rises, the number of b) units demanded declines.
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3) As the price of one good rises, consumers buy less
of

4) A supply curve traces the quantity of

5) As the price falls, so does the number of

6) Equilibrium is the point at which
7) Markets in which prices can
are always in

8) If the market for a good is already in equilibri-

move freely

C) units supplied.

d)a good that consumers will buy at various pric-
es.

e) the demand and supply curves intersect.

f) producers raise prices, consumers will buy fewer
units than they did in equilibrium.

g) supply and demand return to the old equilibrium.
h) a good that sellers will produce at various prices.

um and i) that and more of other goods that now are relative-

9) They can reduce price until ly cheaper.
10) They can cut production until supply falls to J) the lower number of units demanded at the higher
price.

4. Find the English equivalents of the following Russian words in the text:

1) B3ammopelcTBHE 11) roponckoii

2) ycTaHaBIHBaTh 12) nepeBo3ku

3) MOIHMMATBCS 13) sxene3Has gopora

4) nanmaTh 14) pe3ko, BHE3aITHO

5) paBHOBecue 15) mo3BoaATH cede (4TO-J1. MPUOOPECTH)

6) ecTecTBeHHBIN OaaHC 16) BusHME; OKA3bIBATH BIMSIHHE

7) orpaHuveHHE 17) ananor, 3aMEeHUTEINb

8) HacTosIIUii, TEKYIIHit 18) 1OMOTHUTENBHBIN AIEMEHT

9) mpocinexxuBaTh 19) paBHBIii, SKBUBaJICHTHBIH

10 naznauatsb (1IeHY) 20) OeH3un

5. Translate the following sentences into English.

1) Camble OCHOBHBIE 3aKOHBI SKOHOMUKH — HTO 3aKOHBI MPEJIIOKEHUS U CIIPOCa.

2) JIroboe coObITHE B SKOHOMHUKE €CTh PE3YJIbTaT B3aUMOICHCTBUS 3TUX JIBYX 3aKOHOB.

3) KomamuecTBo mpeaiaraeMoro ToBapa pacTéT ¢ poCTOM PHIHOYHOMW IICHBI M MIAIaeT CO CHUYKEHUEM IICHBI.

4) 3aKkoH cIpoca TOBOPUT, YTO KOJMYECTBO TPEOYEMBIX TOBAPOB YMEHBINACTCS MO MEpPE POCTa IEHBI, U
Hao000poT.

5) Opnna u3 QyHKIUH phIHKA — HAHTH «PaBHOBECHYIOY IICHY.

6) «PaBHOBeCHBIE» IIEHBI OATAHCUPYIOT MTOCTABKH TOBAPOB M YCIYT M CIIPOC HA HHX.

7) PaBHOBecHas IeHa — 3TO IIEHA, IO KOTOPOH KaKIbIi MPOU3BOAUTEIh MOXKET MPOJaTh BCE, YTO OH XOUET
MPOJIaTh, 8 KAKIBINA MOKYIATEb — KYIUTH BCE, 4TO eMy TpedyeTcs.

8) EcrecTBeHHO, MPOM3BOUTENN BCETIa XOTAT Ha3HAYATh 00JIee BHICOKHE ICHBI.

9) Ho, naxxe eciiu y HUX HET KOHKYPEHTOB, OHU OTpaHUYEHBI 3aKOHOM CIIPOCa.

10) Ecau mpou3BoauTesb OyaeT HaCTauBaTh Ha 00Jiee BHICOKHX II€HAX, MOKYIATe b MPHOOPETET MEHbIIIEe KO-
JUYECTBO SIUHUIL TIPOTYKIIHH.

Il Translate the following dialogues from Russian into English:

1. A: [IIpuser! Kak noxupaemnis?
B: Xopomo, ciacu6o. A TbI Kak?
A: HopwmanbHo.
2. A: Kewm Bbl paboTaere?
B: 4 menemxkep 1o paboTe ¢ KIMEHTaMHU.
A: Bawm HpaBurcs Bama pabota?
B: He ouens, HO s HEITOXO 3apabaThIBaLo.
3. A: Ceroans uaét 10X1b, U MBI HE MOXKEM MONTH MPOTYIATHCS.
B: Her. Joxnabs npekpaTuiicsi, HI03TOMY Mbl MOXEM MOUTH.
Variant 7.
I Read the following text and translate it in writing:
PROFITS

In a market economy, profits are the core aim of economic activities. Those who organize production ef-
forts do so to maximize their income. Their search for profits is guided by the famous "invisible hand" of cap-
italism: the highest profits are to be found in producing the goods and services that potential buyers most want.
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Capitalists earn a return on their efforts by providing three productive inputs. First, they are willing to
delay their own personal gratification. Instead of consuming all of their resources today, they save some of to-
day's income and invest those savings in activities (plant and equipment) that will yield goods and services in
the future. When sold, these future goods and services will yield profits that can then be used to finance con-
sumption or additional investment. Put bluntly, the capitalist provides capital by not consuming. Without capi-
tal much less production could occur. As a result some profits are effectively the "wages™ paid to those who are
willing to delay their own personal gratification.

Second, some profits are a return to those who take risks. Some investments make a profit and return
what was invested plus a profit, but others don't. When a savings and loan association or an airline goes broke,
the investors in those firms lose their wealth and become poorer. Just as underground miners, who are willing to
perform a dangerous job, get paid more than those who work in safer occupations, so investors who are
willing to invest in risky ventures earn more than those who invest in less risky ones. On average those who
take risks will earn a higher rate of return on their investments than those who invest more conservatively.

Third, some profits are a return to organizational ability, enterprise, and entrepreneurial energy. The en-
trepreneur, by inventing a new product or process, or by organizing the better delivery of an old product, gener-
ates profits. People are willing to pay the entrepreneur because he or she has invented a "better mousetrap."

Economists use the word interest to mean the payment for delayed gratification, and use the word profits
to mean only the earnings that result from risk taking and from entrepreneurship. But in everyday business lan-
guage the owner's return on his or her capital is also called profits. (In business language the lender's return is
called interest, even though most lending also entails some risks.)

Capitalism requires profits, and profits require ownership. Property ownership generates responsibility»
Without ownership no one is really responsible for what is going on in the economy.

The fruit of successful market competition takes the form of profits. By introducing new goods, new
technology, or new forms of organization, or by finding new markets or new sources of raw material, entrepre-
neurs can earn profits. The lure of profits inspires alertness, creativity, judgement, and risk taking. Similarly,
workers who perform better will, all other things being equal, get bigger raises and more promotions.

The pursuit of profits, in the two hundred years since the industrial revolution, has changed the world in
many respects. The horse and wagon have been replaced by the railroad, the automobile, and the airplane. The
open-hearth fire has yielded to the electric stove and microwave oven. The telephone wire and the electromag-
netic wave transmit news that previously travelled by ship or pony. The competitive process that has brought
about these enormous changes is governed by the set of rules that, taken collectively, is called the market econ-
omy or the system of private property. This system recognizes the right of each person to use his property as he
sees fit, and to keep the fruits of his labour. This leaves the worker free to pursue the occupations for which he
thinks himself or herself best suited. It leaves the entrepreneur free to explore new forms of production.

Despite its importance to modern economic life, competition is not the be-all and end-all of economic activity.
The modern market economy is as much a system of cooperation as it is a system of competition. Within the
family and within the firm, between the customer and the supplier, we cooperate to achieve our ends. This co-
operation is as vital as competition to a productive economy.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the core aim of economic activity in a market economy?

2) What do people organize production?

3) Where are the highest profits to be found?

4) Why do capitalists delay their personal gratification?

5) Where do the capitalists invest a part of today's income?

6) Why do people take risks?

7) Why do some investors prefer to invest in risky ventures?

8) Why are people willing to pay entrepreneurs?

9) What is the meaning of the word "interest” for an economist?

10) What is the meaning of the word "profit" for an economist?

2. Fill the blanks with the words from the text.

1) In amarket economy, profits are the aim of economic activities.

2) Those who organize production efforts do so to __ their income.

3) Their search for profits is by the famous "invisible hand" of capitalism.

4) The highest profits are to be found in the goods and services that potential buyers most
want.
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5) Capitalists earn a on their efforts by providing three productive inputs.

6) Capitalists are willing to their own personal gratification.

7) Instead of consuming all of their today, they save some of today's income.

8) They invest those in activities that will yield goods and services in the future.
9) These future goods and services will profits that can then be used.

10) These money can be used to finance or additional investment.

3. Match the parts of the sentences to each other.

1) Put bluntly, the capitalist provides a) the payment for de layed gratification.

2) Without capital much less b) organizational ability, and entrepreneurial
3) Some profits are a return to energy.

4) Some investments make a profit and return c) what was invested plus a profit.

5) Those who take risks will earn d) what is going on in the economy.

6) Some profits are a return to e) his or her capital is also called profits.

7) People are willing to pay the entrepreneur be- f) capital by not consuming.

cause g) those who take risks.

8) Economists use the word interest to mean h) production could occur.

9) In everyday business language the owner's return | i) higher rate of return.

on e) J) he or she has invented a "better mousetrap."
10) Without ownership no one is really responsible

for

4. Find the English equivalents of the following Russian words in the text:

1) 3apabarbiBaTh 11) 3aumoaBel, KpeauTop

2) BO3HArpa)JIcHUE 12) 3aém, kpeaut

3) coepexeHus 13) npoaBukeHue (ToBapa; 1mo Ciayxoe)

4) notpebnenue 14) ynpaBiars

5) maxtép 15) BaxHOCTH

6) 3ausTHe, npodeccus 16) corpyaHr4ECTBO

7) pucKOBaHHOE MpeanpusTue 17) )KU3HEHHO BaXKHBIH

8) cpenuumii 18) chipbé

9) mocraBka, OCTaBKa 19) cytb

10 unTEpEeC, MpoIeHTHAS 20) rnaBHas 11€Tb

5. Translate the following sentences into English.

1) Ux cTpemiieHHe K MPpUOBLIHA BEJOMO 3HAMEHUTOW «HEBUIUMOM PYKOi» KamHTaTH3MA.

2) be3 kanurana OyaeT NPOU3BOAUTHCS TOPa3I0 MEHbIIIE.

3) I'pybo roBopsi, KAMUTAIUCT MPEIOCTABISCT KAIIMTAIl [IOTOMY, YTO HE MOTPEOIIsIeT.

4) Koraa KpenuTHO-cOeperaTelibHbIil COI03 TEPITUT KpaxX, ero HHBECTOPHI TEPSIOT CBOM JICHBTH.

5) Hekortopbie BUIBI 10X0/1a — 3TO MPHOBLTL TEX, KTO OEpET Ha ceOst PUCKH.

6) OnHu cTpeMsTCs Ha BpeMsl OTIIOXKUTH CBOE JINYHOE BO3HATPAKICHHE.

7) Hekoropble BHIbI WHBECTUIMI HMPHHOCAT MPHOBUTL U BO3BPALIAIOT MHBECTOPAM TO, YTO OBLIO MHBECTH-
POBaHO, IIIOC MPUOBLIb.

8) Jlromu XOTSAT IUIATHTH MPEANPHHAMATENIO TOTOMY, YTO OH MJIH OHA H300PEIH «IYYIIYI0 MBIIIEIOBKY.

9) Byayuu npogaHHBIMH, 3TH OyJyIIHE TOBAphl WM YCIYTH MPUHECYT NPUOBLIb, KOTOPAs MOXET OBITh HC-
MOJIb30BaHa 11l GPMHAHCUPOBAHMS MOTPEOICHUS HITH JUTsl TOTIOJTHUTEILHOTO MHBECTUPOBAHHUS.

10) B ycioBHsIX pIHOYHOM SKOHOMUKH MPHOBLIH €CTh TIIaBHAsI 11e]Ib SKOHOMHUYECKOH aKTHBHOCTH.

Il Translate the following dialogues from Russian into English:

1. A: Ceroans npekpacHas moroja.

B: O, na! Iloroga npocto npekpacHas. JlaBaii noi1ém nporynsemcs.
2. A: Kakue 1Bera B MOJZIE B 3TOM Ce30HE?

B: bBopnoBslii (TEMHO-KpacHBIN) U CEPBIN.
3. A: [Ilpuser! Yto HOBOTO?

B: Hwuuero ocobenHoro.

Variant 8.
I Read the following text and translate it in writing:
INVESTMENT
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In the United States, investment accounts for about one-sixth of gross national product (GNP). Yet in-
vestment occupies a much more important role in policy discussions than this share of production might sug-
gest. The two main reasons for this are that investment is volatile and, therefore, a cause of business fluctua-
tions, and that investment contributes to economic growth.

Concern with these issues of business cycles and growth has led to very active tax policy toward invest-
ment during the postwar years, as a succession of governments has tried to influence the level, pattern, and tim-
ing of investment spending. Such policies have been effective. At the same time many other, uncontrollable
factors continue to influence investment.

Although in general the word investment may denote many types of economic activity, economists usu-
ally use the term to describe the purchase of durable goods by households, businesses, and governments. Pri-
vate investment is commonly divided into three broad categories: residential investment, which accounts for
about a quarter of all private investment (in the USA 25.7 percent in 1990); nonresidential, or business, fixed
investment, which accounts for most of the remainder; and inventory investment, which is small but volatile.
Business fixed investment, in turn, is composed of equipment and nonresidential structures. Equipment now
makes up over three-quarters of business investment.

Investment helps increase productivity by raising the level of capital per worker and, perhaps, hastening
the adoption of new technologies.

One more reason for so much interest in investment behaviour is its apparent role in influencing busi-
ness cycles. Investment is a volatile component of GNP, falling sharply during recessions and rising just as
sharply during booms. As the economy went into a deep recession in the early eighties, for example, real GNP
in the USA fell 3 percent between 1981 and 1982, but investment fell in real terms by 18 percent. In the follow-
ing year, as the expansion began, GNP rose 4 percent while investment rose 13 percent.

Why is investment so volatile? The key lies in the nature of the investment process. Investment deci-
sions often require long lead times, and their consequences are as durable as the investment goods themselves.

While fluctuations in output exert a strong influence on investment behaviour, the costs of investing
matter, too. These costs include the prices of capital goods themselves, as well as interest rates, required returns
to equity owners, and the taxes that firms must pay on the profits that the investments generate.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) How much of the USA GNP does investment account for?

2) Why does investment cause business fluctuations?

3) What have the US governments been trying to influence during the postwar years?

4) What do economists describe with the term "investment"?

5) What categories is the private investment commonly divided into?

6) How much of the US total private investment does residential investment account for?
7) What is business fixed investment composed of?

8) How does investment influence business cycles?

9) Why is investment so volatile?

10) What do the costs of investing include?

2. Fill the blanks with the words from the text.

1) Investment occupies a much more important role in policy discussions than this share of production
might

2) Investment is and, therefore, it causes business fluctuations.

3) A succession of governments has tried to the level, pattern, and timing of investment spend-
ing.

4) At the same time many other, factors continue to influence investment.

5) Private investment is commonly into three broad categories.

6) Business fixed investment is of equipment and nonresidential structures.

7) Investment helps increase productivity by raising the of capital per worker.

8) Investment is a component of GNP.

9) Investment decisions often require long times.

10) The consequences of investment decisions are as as the investment goods themselves.
3. Match the parts of the sentences to each other.

1) Investment accounts for about one-sixth of a) long lead times.

2) Investment contributes to b) the level of capital per worker.

3) Concern with these issues led to c) over three-quarters of business investment.
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4) Many uncontrollable factors continue to

5) Economists usually use the term to describe
6) Residential investment accounts for

7) Equipment now makes up

8) Investment helps increase productivity by rais-

ing
9) Investment decisions often require
10) Fluctuations in output exert

d)a strong influence on investment behav-
iour.

e) very active tax policy.

f) influence investment.

g) economic growth.

h) gross national product.

1) about a quarter of all private investment.

J) the purchase of durable goods.

4. Find the English equivalents of the following Russian words in the text:

1) monutHka

2) 10JIs, aKIus

3) xonebanue

4) BHOCHTB, JOIIOJIHATH
5) pocr

6) mociaenoBaTeIbHOCTD
7) BIUWSHUE; BIUATH

8) mozens, cxema

11) ocrarok

9) pacnpenaencHue 1o
10 momarHee X035iiCTBO

12) o6opynoBanue

13) cnaxg (B 95KOHOMUKE)

14) 6yMm (moabéM B 5KOHOMHKE)
15) pacmupenue, IKCIaHCHst
16) TpeGoBaTh

17) cnenctBue, moCeACTBHE
18) cyTb, neno

19) BasioBOI HallMOHAJILHBIN TPOYKT

20) mpoleHTHas CTaBKa
5. Translate the following sentences into English.

1) B CIIA uHBECTHIIMH COCTABJISIFOT OKOJIO OJIHOM IIECTOW YaCTH BaJOBOTO HAIIMOHAJIBHOI'O MPOIYKTA.

2) HuBecTHLIHH SBJISIOTCSA HCTOYHUKOM KojiebaHuii B chepe Ou3Heca.

3) 0O3a004YCHHOCTH 3TUMH BOIIPOCAMH INPHBEJTIA K OYCHb AKTHBHBIM JIMCKYCCHSM B c(epe MOTUTHKUA HAJIOro-

00JIOKEHUS.

4) B T0 xe BpeMsl MHOTHUE JIPYTUe, HEKOHTPOJIIMpPYeMbIe (DakTOphl MPOIOIKAIOT OKA3bIBATh BIIMSHUE HA MHBE-

CTHUILIUU.

5) Cnoso CMHBCCTHULIMA» MOXKET 0003HaYaTh MHOTHE BHUbI SKOHOMHWYECKON aKTUBHOCTH.

6) DKOHOMHUCTBI OOBIYHO HCIIOJIB3YIOT 3TOT TCPMHUH IJIA 0003HaYCHHS IMMOKYIIKA TOBApPOB MIUTCIIBHOI'O IOJIb-

30BaHUA.

7) YacTHbIe HHBECTUIIMH OOBIYHO MOAPA3ACISAIOTCS HA TPH [IMPOKHE KATETOPHH.
8) OO6opymoBaHUE COCTABIISIET Ceifuac OKOJIO TPEX YeTBEPTE MHBECTHIINI B OU3HEC.

9) HMHBecTUIINH IIOMOTAKOT YBCIUYUTDH ITPOU3BOAUTCILHOCTD HYTCM YBCIUYCHUA 00BEMa KamuTaia Ha OJJHOI'0

pabouero.

10) I/IHBGCTI/II_II/IOHHHG pemeHus 411 CBOCTO BHEAPCHUA YaCTO Tp66y1-OT A0JIr0T0 BPEMCHHU.
Il Translate the following dialogues from Russian into English:

1. A: Ckxonbko BaM jet?
B: M=ue tpuauats asa.
A: Bel3amyxkem?
B: [la, u y MeHs nBOE JETEN.
A: Uewm BbI 3aHUMaETECH?
B: I nomoxo3siika.
2. A: Bpsimobure ecth rae-HHOYAb B pecTopane uin kage?
B: O na. § gacto BeIXOXY KyJa-HUOY/Ab IOY>KUHATh.
A: Kakyro KyxHIO Bbl IpeAnoynTaere?
B: S npennounTtaro TpaAMIMOHHYIO PYCCKYIO KYXHIO.
3. A: Moii npyr nepeexai B AHTIIUIO MPOILION 3UMOIA.
B: Tlouemy?
A:  OH nomy4us npeajgoxeHue o padore.
B: Kak emy Oputanckuii kaumar?
A: OH roBopur, 4To KJIUMaT yXacHblii. Bc€ Bpemst uaET noxab.

I Read the following text and translate it in writing:

Variant 9.

MONEY
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Money supply in most countries comprises currency — bills and coins issued by the Central Bank
and/or the Treasury — and various kinds of deposits held by the public at commercial banks and other deposi-
tory institutions such as savings and loans and credit unions. In the USA, for example, on June 30, 1990, the
money supply, measured as the sum of currency and checking account deposits, totalled $809 billion. Including
some types of savings deposits, the money supply totalled $3,272 billion. An even broader measure totaled
$4,066 billion.

The definition of money has varied. For centuries physical commodities, most commonly silver or gold,
served as money. Later, when paper money and checkable deposits were introduced, they were convertible into
commodity money. The abandonment of convertibility of money into a commodity made paper money the main
financial instrument around the world. To regulate the national economy and influence the world trade national
monetary authorities have the power to issue paper money without legal constraints.

Because money is used in all economic transactions, it has a powerful effect on economic activity. An
increase in the supply of money puts more money in the hands of consumers, making them feel wealthier, thus
stimulating increased spending. Business firms respond to increased sales by ordering more raw materials and
increasing production. The spread of business activity increases the demand for labour and raises the demand
for capital goods. In a booming economy, stock market prices rise and firms issue equity and debt. If the money
supply continues to expand, prices begin to rise, especially if output growth reaches capacity limits. As the pub-
lic begins to expect inflation, lenders insist on higher interest rates to offset an expected decline in purchasing
power over the life of their loans.

Opposite effects occur when the supply of money falls, or when its rate of growth declines. Economic
activity declines and either disinflation (reduced inflation) or deflation (falling prices) results.

The most important determinant of the money supply is the Central Bank.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does money supply in most countries comprise?

2) What institutions issue currency?

3) How much money did the USA have on June 30, 19907

4) What physical commodities were used for money?

5) What made paper money the main financial instrument around the world?
6) How does the increase in the money supply affect the economy?

7) What effects may the increased money supply lead to?

8) What is the difference between disinflation and deflation?

9) What happens when the money supply falls?

10) What institution determines the money supply?

2. Fill the blanks with the words from the text.

1) Various kinds of deposits are held by the public at commercial banks and other depository _
such as savings and loans and credit unions.

2) Inthe USA, on June 30, 1990, the money supply, measured as the of currency and
checking account deposits, totalled $809 billion.

3) The of money has varied.

4) When paper money and checkable deposits were introduced, they were into commodi-
ty money.

5) The abandonment of convertibility of money into a commodity made money the main financial
instrument around the world.

6) National monetary authorities have the power to issue paper money without constraints.

7) Anincrease in the supply of money puts more money in the hands of consumers, making them feel wealthi-
er, thus increased spending.

8) The spread of business activity increases the demand for labour and raises the demand for goods.
9) If the money supply continues to , prices begin to rise.

10) Economic activity declines and either or deflation results.

3. Match the parts of the sentences to each other.

1) Money supply in most countries comprises a) either  disinflation or deflation results.

2) The  money  supply, measured as b) firms issue equity and debt.

3) The definition of money has c¢) the sum of currency and checking ac-

4) When paper money was introduced, it was converti- count deposits, totalled $809 billion.

ble into d) currency.
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5) Business firms respond to increased sales by ordering e) varied.

more f) an  expected decline in purchasing
6) In a booming economy, stock market pricesrise and power.

7) If the money supply continues to expand, g) the money supply is the Central Bank.
8) Lenders insist on higher interest rates to offset h) commodity money.

7) 9) Economic activity declines and i) raw materials.

10) The most important determinant of J) prices begin to rise.

4. Find the English equivalents of the following Russian words in the text:

1) KasnaueiicTBo 11) pactipenensarsb

2) Jeno3uT, BKJIa 12) mounr, monroBoe 0053aTeILCTBO

3) mwumapn (amep.) 13) MotHOCTh, 00BEM

4) cepedpo 14) undusiuus

5) 3omoTo 15) xomMIieHCHpOBaTh, BO3MEIIATh

6) KOHBEPTHPYEMbIi 16) manenue, ynamaok

7) IeHEeKHBIH 17) 3aém

8) BitacTH, aIMHUHUCTPALIHS 18) cHmkeHne ypoBHS HHOISIUN

9) 3aKOHHBIH, IOPHIUIECCKUI 19) Tekymmmii cyér

10 cpuenka, oneparus 20) bu3uyeckre ToBaphI

5. Translate the following sentences into English.

1) HaceneHue AepKUT BKIIAJbI B PA3JIMYHBIX JCTO3UTAPHBIX OPraHU3aLUIX, TAKMX KAK KOMMEpPYECKHe OaHKH,
cOeperarenbHbIE U KPEIUTHBIE COIO3bI.

2) JlenexxHas mMacca, u3MepsieMasi Kak CyMMa BaJIIOThI M BKIIAJI0OB [0 TEKYIMM CueTaM, cocTasisiia Bcero 900
MUJUINAP/I0B JA0JUIAPOB.

3) Drta cyMMa BKIIIOYACT HEKOTOPBIC BU/IbI COCpEraTelibHbIX JICIO3UTOB.

4) B TeueHue cToJETHH (PU3NYECKUE TOBAPHI, Yallle BCEro 30JI0TO M cepedpo, CITY)KUIIU B KAYSCTBE JICHET.

5) Ilo3nHee, koraa ObUTH BBEACHBI OyMaXKHBIC ICHBI'M, OHU MOTJIM OBITH OOpALIECHbI B TOBAPHBIC ICHBIU.

6) B mensx perynupoBaHHs HAIMOHAIBHOW SKOHOMHKH HAlMOHAJIbHBIC (PUHAHCOBBIC OpPTaHbI HAJCISIOTCS
MOJTHOMOYHSIMHU IO BBITYCKY OYMa)KHBIX JICHET.

7) Tak Kak JNEHBIH HCHOJB3YIOTCS BO BCEX 3KOHOMHYECKHX OIEpAIMsX, OHM OKa3bIBAIOT MOIIHOE BO3-
JEMCTBHE Ha DKOHOMUYECKYIO IEATEIBHOCTD.

8) Kommanuu oTBeUarOT Ha POCT 00BbEMA MPOIAXK, 3aKa3bIBasi OOJIBbIIIEE KOJIMIECTBO ChIPHSL.

9) Poct nen0BOi aKTUBHOCTH YBEIMYUBACT CIIPOC HA PabOuyI0 CHITy U MOJHUMAET CIIPOC Ha OCHOBHBIE (hOH-
TIBL.

10) B skoHOMUKE, MepexHuBaromeil Mo bEM, IeHbl (POHIOBOTO PHIHKA PacTyT, U KOMIIAHUH BBIITYCKAIOT aKIUH
1 o0nuranuu.

Il Translate the following dialogues from Russian into English:

1. Hcnanus — oJHO M3 caMbIX MOMYJSPHBIX TYPUCTUYECKUX HalpaBieHUH. Brl korma-HuOyanp

ObLTH TaM?

Tonbko oguH pas.

Bam nonpasunocs?

Ja, oueHb. X0Ts ObLJIO OYEHB KapKO.

TeGe HpaBUTCA MEKCUKAHCKas KyXHs?

Her, He ouens.

[Touemy? OHa oueHb NOMYJIpPHA.

OHa cuIIKoM ocTpas JUid MeHs. Sl pelnounTao HTAIbSIHCKYIO KyXHIO.

3npascTByiiTeE, cap! S Mory Bam momous?

Ha, noxanyiicra. fl uiy MyKCKOW KOCTIOM.

Crnenyiite 3a MHOU. IlocMOTpUTE Ha 3T KOCTIOMBI, C3pP. Y HAc 3/1€Ch NPEICTABJICHbI JTyYllNe
OpeHIbI.

Yro BBl HOpEeKOMEHAYETE?

[Touemy Obl BaM HE IPUMEPHUTH OJIUH U3 KOCTIOMOB ApMaHH?

w>wx

w
ZI>TEI D>

Variant 10.
I Read the following text and translate it in writing:
MONEY
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Basically, money or funds go into purchasing assets, paying operating expenses and producing income.
The operating expenses include the cost of materials and supplies. The manufacturer also must pay employee
wages, rent or mortgage, insurance premiums and utility bills.

Small firms sometimes operate on a cash basis. They neither obtain credit, nor borrow money. Other
firms extend their resources through the use of credit. The owner of the firm invests some of his own money
and has a lot more of other people's.

The businesses use money to buy assets like land, buildings and furnishings, and tools, machines, and
equipment. The manufacturer sometimes buys them with mortgage loans which he secures by the building or
the equipment itself. In other words, the bank or insurance company really owns the property until the manufac-
turer has paid the mortgage in full. The use of debt, or credit, increases both the assets and the income of the
purchaser. The use of borrowed money to make more money is called leverage. Big companies issue securities
to attract funds from other companies and the public. Securities are traded on the open market.

New businesses can start with the businessman's own assets. Start-up financing may also come from rel-
atives and friends. The larger firms can obtain funds from venture capital investors. These financial intermedi-
aries specialize in funding ventures with good promise and invest in businesses which generate high profits
within five years.

Initially venture capital firms invested in high-tech industries, but now other branches enjoy this kind of
financial aid, especially those working in the health-care field.

Funds can also be borrowed from the bank. In order to provide a loan, a bank must have funds to lend.
This comes from paid-in capital, earnings of the previous years and the bank’s customers' deposits. The banker
always remembers that the money he lends is not his bank’'s own money. It is money deposited by the bank's
customers, whether in a demand or time account. This idea limits the risk that a commercial banker will take.

To evaluate the risk, a banker must first obtain certain basic information about the potential borrower:
how much money the borrower needs, the purpose and the term of the loan, and how the borrower will repay
the loan. The banker evaluates the three C's of credit: character, capacity and capital — the integrity of the bor-
rower, his ability to repay, and the soundness of his financial position.

The integrity of the borrower is determined by previous loans and by his standing with other banks.
Everywhere in the world banks exchange credit information with each other.

The borrower's ability to repay depends on the purpose of the loan.

The financial position of the borrower is determined on the basis of his financial statement. This consists
of a detailed balance sheet and a profit and loss statement. The bank demands an audited financial statement
covering the previous three years.

Il Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Where does money go basically?

2) What basis do small firms operate on sometimes?

3) How do businessmen secure mortgage loans?

4) What term do they use to define the use of borrowed money?

5) How do big companies attract money from other companies and the public?
6) Who do venture capital investors lend funds to?

7) What idea limits the risk that a commercial banker will take?

8) Where do banks get money from to offer as loans to the borrowers?
9) How does a banker evaluate the risk he or she has to take?

10) What basis is the borrower's financial position determined on?

2. Fill the blanks with the words from the text.

1) Money or funds go into purchasing ,paying operating expenses and producing in-
come.

2) The manufacturer also must pay employee wages, rent or , insurance premiums and utility
bills.

3) Small firms sometimes operate on a basis.

4) Other firms their through the use of credit.

5) The manufacturer sometimes buys land, buildings and with mortgage loans which he by

the building or the equipment itself.

6) The use of , or credit, increases both the assets and the income of the purchaser.

7) The use of borrowed money to make more money is called .

8) Venture capital investors in funding ventures with good promise.
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9) Inorderto a loan, a bank must have funds to lend.

10) The banker lends the money deposited by the bank's customers, whether ina or time
account.

3. Match the parts of the sentences to each other.

1) The operating expenses include a) the risk that a commercial banker will take.

2) Other firms extend their resources through  b) the property until the manufacturer has paid the mortgage
3) The bank or insurance company really in full.

owns c) the cost of materials and supplies.

4) Big companies issue securities to attract d) the purpose of the loan.

5) New businesses can start with e) the use of credit.

6) Initially venture capital firms invested in f) previous loans and by his standing with other banks.
7) The banker always remembers that g) the businessman'’s own assets.

8) This idea limits h) funds from other companies and the public.
9) The integrity of the borrower is determined i) the money he lends is not his bank's own money.
by J) high-tech industries.

10) The borrower's ability to repay depends

on

4. Find the English equivalents of the following Russian words in the text:

1) akTuBBI 11) pacruiaunBaThCsl, BO3BpALLATh I€HBIU

2) WIIOTEKA, UTIOTCYHBIH KPSIUT 12) 3asBnenue, qexnapanus

3) crpaxoBaHue 13) noteps, yrpara

4) KOMMyHaJIbHBIC YCITYTH 14) mpoBepATh PUHAHCOBOE COCTOSTHUE

5) 3aHUMaTh B 10JIT 15) crpaxoBas npemust

6) HenpOM3BOJICTBCHHOE 16) crapToBoe pHaAHCUpPOBaHUE

7) ueHHas Oymara 17) xopomire nepcrneKTUBbI

8) poJaCTBEHHHK 18) BEICOKOTEXHOJIOTUYHBIN

9) mocpemHHUK 19) cpouHbIii AETIO3HUT

10 BeTBB, OTPACIIb 20) mexnmapanus J0X0I0B M YOBITKOB

5. Translate the following sentences into English.

1) B ocHOBHOM jeHexHbIE cpeacTBa (MK (OHIBI) UAYT HA MPUOOPETEHHE aKTHBOB, OILIATY OIEpPAIldOHHBIX
U3JIEP’KEK U MTPOU3BOJCTBO MPUOBLIH.

2) Tlpoune KOMIAHUM YBETUYMBAIOT CBOU PECYPCHI 32 CUET UCTIOIB30BAHUS KPEIUTA.

3) Huoraa nmpou3BOIUTENb MPHOOPETACT WX 3a CUET MITOTEYHOTO KPEIUTA, KOTOPBIA OH 00ECIIeYrBaCT CAMUM
3/ITaHHEM WJIM 00OPYZAOBaHUEM.

4) WubiMu croBamMH, OaHK WM CTPAaxoOBas KOMIIAHHS B JCHCTBUTEILHOCTH BJIAJICIOT COOCTBEHHOCTBIO JIO TEX
0P, MOKA IMPOU3BOJUTEND MOJHOCTHIO HE PACIUIATUTCS 110 UITOTEYHOMY KPEAUTY.

5) KpymHble KOMIaHWH BBIMYCKAIOT [[CHHbIE OyMaru IUis MPUBJICYCHUS CPEICTB OT JAPYTUX KOMITAHUHA U OT
HACEJICHUS.

6) OTtu (UHAHCOBBIC MOCPEIHUKH CHCHUATU3UPYIOTCS B (UHAHCHPOBAHHHM PUCKOBAHHBIX TPEIIPHUSITHH,
MMEIOIINX XOPOIlUe MEePCIEKTUBBI, U BKIABIBAIOT CPEJICTBA B OM3HEC, KOTOPBIM o0ecreunBaeT BBICOKHM ypo-
BEHb MPUOBUIN B TEUEHUE TISATH JIET.

7) UtoOBI MPeOCTaBUTh KPEIUT, OAHK JIOJKEH UMETh (DOHIBI.

8) bankup Bcerja MOMHHT, YTO JCHBIH, KOTOPbIC OH JaET B KAYECTBE KPEIUTA, HE SBJISIOTCS COOCTBEHHBIMU
eHbraMu OaHka.

9) Hané&xHocTh 3aéMIIMKA ONPEIEIIETCS ero KPeJAUTHON UCTOPHUECH, a TaKXKe ero peryTaluell y Apyrux 0aH-
KOB.

10) dunaHCOBOE MOJIOKEHUE 3aEMIIMKA OTIPECISCTCS Ha OCHOBE €ro (MHAHCOBOTO OTUYETA.

Il Translate the following dialogues from Russian into English:

1. A: [aBaiiTe CX0aUM KyJa-HUOYb MOYKHHACM.
B: Kypaa BbI xoTHTE OMTH?
A: 4 3Har0 OAHO OYEHB XOPOIIEe MECTO HENAJIEKO OTCI0/IAa. TaM roTOBIT OYEHb BKYCHYIO CpEIu-
36MHOMOPCKYIO €71y.
2. A: Kewm Bol pabotaete?
B: S xoncynbranT no 6usHecy. S paboraio B Oomnbioii kommanuu. S paboraro mogHBIN AeHb. A
A: BbI?
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S nuzaitHep UHTEpbepOB. B naHHBIN MOMEHT 51 He paboTato. S uiy padory.
B npomom roxy BecHa Oblia O4€HBb XOJIOTHAS.

A B aTOM TOY?

B 3TOM oty HaMm OBE3710 — MHOTO COJIHIIA U IOKAb UET HE YacTo.

> o>

BomnpochI 11 MOATOTOBKH K 3a4eTy

2 cemecTp

Management.

Wwms cymecTBUTEBHOE, OOIINE CBEACHUS.

VcuucsieMble U HEUCUYUCIISIEMbIC CYIICCTBUTEIIbHBIC.

OO0pa3oBaHnEe MHOKECTBEHHOT'O YUCJIa UIMEH CYIIECTBUTCIBHBIX.

[TputskaTenbHbIH MaJAeK UMEH CYIIECTBUTCIbHBIX.

[opsiioK CIIOB B aHTIIUICKOM TPETIOKEHHH.

Human Resources (HR).

MecronMeHust (JIMYHBIC, IPUTSDKATECIBHBIC, YKA3aTSIbHBIC).

Mecronmenus (BOIPOCHTEIbHBIC, BO3BPATHBIE).

0. KomnvecTBeHHbIE MECTOUMEHHS.

1. HeomnpenenéHuble MeCTOMMEHHs SOME, any, OTPUIIATEIIEHOE MECTOMMEHHE NO.

Marketing.

13. KosnyecTBEeHHbBIC YUCITUTEIIbHBIC.

14. TlopsnKOBBIC YUCITHTEIIbHBIC.

15. Cnpspkenue u ynotpebienue riaroia to be.

16. Cnpspkenue u ynotpebienue riaroia to have.

17. Public Relations.

18. OCHOBHBIE THIIBI BOITPOCUTEIBHBIX MPEUIOKECHUH.

19. Mass Media.

20. Aptukib. YnorpeOieHre onpeesIeHHOTO U HEOMIPEISICHHOTO apTHKIIS.

21. YmnorpeGneHue apTHKIIS ¢ reorpadUuecCKUMU Ha3BaHUSMU.

22. Evolution of Public Administration.

23. Hacrosmmme BpemeHa. YmorpeOiienue u  crmocoObl obpasoBanust (Present Simple, Present
Continuous).

24. Hacrosmue BpeMeHa. YnotpebdiaeHue u criocoobl oopazosanus (Present Perfect, Present Perfect Con-
tinuous).

25. State Structure: the USA.

RRO©oo NGO~ WNE

-
no

Kpurtepun oneHuBanus 0TBeTa Ha 3a4eTe

3aueT - (hopMa NMPOMEKYTOUHON aTTECTAllMM, B PE3ylbTaTe KOTOPOro OOydarolUii MOJy4aeT OLEHKY B
ABYXOAIUTbHOM mIKaje («3a4TeHO», «HE 3aUTCHOY).

OrneHKa «3a4TeHO» CTABUTCS CTYJEHTY, KOTOPBIA IPOYHO YCBOWJI IIPEAYCMOTPEHHBIM TPOrpaMMHBIN Ma-
Tepuai;, cBOOOJHO OPUEHTUPYETCS B M3JIaraeMoOM MaTepHalie, UCIOJb3yeT JEKCHUYECKH MaTepuai, COOTBET-
CTBYIOIIMN TpeOOBaHUSAM y4eOHOM MporpamMmoil Mo JUCHUIUIMHE; MPaBUIbHO, apryMEHTHPOBAHO OTBETHJ Ha
BCE€ BOIIPOCHI, C IPUBEACHUEM NIPUMEPOB; IIPH BBICKA3bIBAHUM Ha 33JJaHHYIO TEMY HUCIIOJIb3YET CIOKHBIE TpaM-
MaTHYeCKHE KOHCTPYKUUU (CIOXKHBIE MPEIJIOKEHNsI, THOUHUTUBHBIE 0OOPOTHI U T.I1.); HE JIOMYCKAaeT rpamma-
TUYECKHE OIIMOKHM, MCKAKAIOUIMX CMBICT, 0e3 OMMOOK BBIMOJHWI MHpakThdeckoe 3aganue. OO0s13aTeNbHBIM
YCIIOBUEM BBICTABJIEHHOM OLIEHKH SIBJISIETCS MpaBUiIbHAs peyb B OBICTPOM WM yMEpeHHOM Temiie. JlomoaHu-
TEJIbHBIM YCIOBUEM MOJIYYEHHS OLIEHKH «3aYTEHO» MOTYT CTaTh XOPOLIME YCIEXU IPU BBIOJIHEHUH CaMOCTOSI-
TEJIbHOU U KOHTPOJIbHOM paboThl, CUCTEMaTHYeCcKasi akTUBHas paboTa Ha 1a00PaTOPHBIX 3aHATHSIX.

OreHKa «HE 3a4T€HO» CTABUTCS CTYAEHTY, UMEIOLIEMY CYIIECTBEHHBbIE MPOOENbl B 3HAHUU OCHOBHOTO
MaTepuaa 1o nporpamme, a Takyke J0NyCTUBIIEMY MPUHIIUIHAIBHBIE OIIUOKY MTPU U3JI0KEHUU MaTepuaa.

O1eHOUHBIE CPECTBA 11 HHBAIUAOB U JIMIl C OTPAaHMYEHHBIMU BO3MOXHOCTSIMU 3/10pPOBbsI BEIOUPAIOTCS
C YU4€TOM UX WHAWBUIYAIbHBIX ICUXO()U3NIECKHX OCOOCHHOCTEH.

— IIpU HEOOXOIMMOCTH MHBAJIMJIAM M JIMI[AM C OTPAaHUYEHHBIMHU BO3MOKHOCTSIMU 370POBBS IPEOCTABIISA-
€TCs JONOJIHUTENBHOE BpeMs [l IOATOTOBKU OTBETA Ha 3a4eTe;
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— IIpU TIPOBEJICHUU TPOIIETYPHI OLIEHUBAHUS PE3yJIbTATOB O0YUCHHSI HHBAIUOB U JIUI] C OTPaHUYCHHBIMH
BO3MOYKHOCTSIMH 3JIOPOBbBsSI NPEIyCMaTPUBACTCS HCIOJIB30BAHUE TEXHHUUYECKUX CPEICTB, HEOOXOAUMBIX MM B
CBSI3M C UX UHIUBUIYATHHBIMU OCOOCHHOCTSIMU;

— TIpU HEOOXOJUMOCTH JIJIsl OOYYAIOIUXCsl ¢ OTPAHUYCHHBIMUA BO3MOKHOCTSIMH 37I0POBBSI U MHBAJINIOB
MpoLIeypa OIEHUBAHUS PE3YIbTaTOB O0YUEHUS MO TUCITUTUINHE MOXKET MPOBOIUTHCS B HECKOJIBKO ATAIOB.

[Iporienypa oneHHBaHUsT PE3y/IbTATOB OOYYCHUS] MHBAIUIOB U JIUI] C OTPAHUYCHHBIMHA BO3MOXKHOCTSIMH
3JI0pOBbS 110 AUCHUILINHE (MOAYIIO) MPEIyCMaTpUBAET MpeocTaBiIeHe HHPopMauu B (opMax, aaanTupo-
BaHHBIX K OTPAHMYCHUSM MX 3JJ0POBbS U BOCHIPUSATHS HHOOPMAIIHH:

JJist 11 ¢ HApYIICHUSIMHA 3PEHUS:

— B I1e4aTHOW (hopMe YBEIMYCHHBIM HIPUPTOM,

— B (hpopMe 2IEKTPOHHOTO TOKYMEHTA.

JUJist TUI ¢ HApYIISHUSIMH CITyXa:

— B mieyaTHo opme,

— B (hopMe 3IIEKTPOHHOTO IOKYMEHTA.

Jist I ¢ HapyIICHUSIMHA OTIOPHO-JIBUTATEIILHOTO amnmapara:

— B IIeYaTHOM ¢opme,

— B (popMe 2IEKTPOHHOTO TOKYMEHTA.

JlaHHBII TIEpeYeHb MOXET ObITh KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHTEHTA 00yJYaroIIuX csl.

Bonpocsk! 1Jisi MOATOTOBKH K IK3aMeHY
3 cemecTp

Management.
O6pa30BaHHe MHOXCECTBCHHOT'O YHCJIa UMCH CYIICCTBUTCIIbHBIX.
[TputsxaTenbHbIN MTAaJIEK UMEH CYIIECTBUTENIbHBIX. [[OpAIOK CIIOB B aHIIMHACKOM NPEAJIOKEHHH.
Human Resources (HR).
MectonMmeHus (J'II/I‘IHI)IG, MMPUTSXKATCIIBHBIC, YKA3aTCIIbHBIC, BOITPOCUTCIILHBIC, B03BpaTHBI€).
KonnuecTBeHHBEIE MECTOMMEHUS. HeonpenenéHHHe MECTOMMEHUA SOMe, any, OTpULATCIIbHOC MC-
cTouMeHwue Nno.

7. Marketing.

8. KomnnuectBenurnie YU CIUTCIIBHBIC, ITOPAAKOBBIC YHCIUTCIIBHBIC.

9. Cupspkenue u ynotpedieHue riarona to be, to have.

10. Public Relations.

11. OcHOBHBIE THUIEI BOIIPOCHUTECIIbHBIX HpeﬂHOX(eHHﬁ.

12. Mass Media.

13. Aptukib. YnorpeGieHue onpeaeIeHHOTO U HEOIIPeIeIEHHOTO apTHKIISL.

14. VYnotpebnenue apTukiis ¢ reorpapuuecKuMI Ha3BaHUSIMU.

15. Evolution of Public Administration.

16. Hacrosmme BpeMeHa. YnoTpediieHHue U CriocoObl 00pa30BaHusI.

17. State Structure: the USA.

18. State Structure: the European Union.

19. The European Economic Community and the European Union.

20. Tpomemmue BpeMeHa. YTIOTpeOieHHE U CTIOCOOBI 00pa30BaHMSL.

21. State Structure: the UK.

22. Bynymue BpeMeHa. YTOTpeOJieHHE U CTIOCOOBI 00pa30BaHMUSL.

23. State Structure: the Russian Federation.

24. CormacoBaHUE BPEMEH B aHTIIMICKOM SI3BIKE.

25. Basics of Economics.

26. Gross domestic product.

27. Inflation and deflation.

28. CreneHu cpaBHEHUSI UMEH TpwiIaraTenbHbIX. CpaBHUTEIbHBIE KOHCTPYKITHH.

29. Hapeuwne. CteneHu cpaBHEHHs Hapeurii. MecTo HapeuHs B MPEI0KEHUH.

30. Money and Banks.

31. English and American money.

oo wdE
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32. Counterfeiting money.

33. Banking Services.

34. Bank credits.

35. IlpsiMast u KOCBEHHAs PeUb.

36. Croco0Obl mepeBoja MpsiMOi pedr B KOCBEHHYIO.

37. Public and Municipal Finances.

38. Financial Organizations.

39. MoganpHble IJ1aroiibl, O0IINe CBENEHHUS.

40. MopnanbHbIe IIIaroysl can, may.

41. MopanbHble riarosl. I'maroisl, BeIpaskaromime J0/bKeHcTBoBaHKe Must, should, ought to.
42. Public Finance: Revenue and Expenditures.

43. The World Trade Organization.

44. CrpanarenbHbIi 3aJ10T.

45. Infrastructure.

46. Henmunsie popmsl rnarona. Mapuautus. ['epyHauii.
47. Tlpuuactue . [Ipuyactue I1.

48. Social Protection.

49. VYnorpebneHue Qppa3oBbIX IIIarojos.

50. Haknonenwue.

Kputepuu onieHuBaHus 0TBeTa HA IK3aMeHe

CryneHTsl 00513aHbI CAaTh YK3aMEH B COOTBETCTBUU C PACIHCAHUEM M yUYE€OHBIM IUIAHOM. DK3aMeH IO
JTUCIUILTMHE TPeCcielyeT 1elb OLIEHUTh paboTy CTyJeHTa 3a Kypc, HOTy4YeHUE TEOPETUUECKUX U MPAKTHIECKUX
3HAHWU, UX MMPOYHOCTh, PA3BUTUE TBOPUYECCKOT'O MBIIIJICHHS, MPUOOPETCHNE HABBIKOB CAMOCTOSTEILHOU pabdo-
ThI, YMEHHE MPUMEHSTH IMOJTYYCHHbBIE 3HAHUS AJIs PELICHUS MPAKTUYECKUX 3a/1a4.

DK3aMeH - opMa MPOMEKYTOYHOM aTTeCTallui, B pe3yIbTaTe KOTOPOro OO0YUYaIOIIUNUCS MOTyYaeT OIEH-
KY B 4eTbIpex0anbHOU IIKalle («OTIIMYHOY, «XOPOIIOY», «YAOBIECTBOPUTEIBHOY, «HEYIOBICTBOPUTEILHOY). Oc-
HOBOU /I ONpe/ieNieHUs OIIEHKM Ha dK3aMEHaxX CIYXHUT 00BEM M ypOBEHb YCBOEHHs CTYJCHTAMH MaTepuara,
MPEelyCMOTPEHHOTO paboueilt mporpaMMoi TUCITUTUIUHEI.

NtoroBas olieHKa YYUTBHIBAET COBOKYITHBIE PE3yJbTAaThl KOHTPOJIS 3HAHUNU. DK3aMEH MPOBOJUTCS IO OU-
jeram B yctHOH (opme B Buje omnpoca. Conepikanue Ometa: 1-¢ 3amanue (MpakTHYECKUE HABBIKK); 2-€ 3a/a-
HUe (JISKCUYECKUM BOTIPOC); 3-€ 3a7aHue (TrpaMMaTUIeCKHil BOTIPOC).

OreHKa «OTIUYHO» CTaBUTCS, €CIU CTYJIEHT INIyOOKO U MPOYHO YCBOWJ BECh MPOTPAMMHBIN MaTepua,
HCUYEPIIBIBAIOIIIE, MOCTIEA0BATEILHO, TPAMOTHO U JIOTHYECKU CTPOWHO €ro U3JIaraeT, TeCHO YBSI3BIBAET TEOPHIO C
MPAKTUKOM; UCTIONB3YeT JIEKCUUECKUH MaTepual, COOTBETCTBYIOIIUN TpeOOBaHUSAM y4yeOHOW MPOrpamMMoi IMo
JTUCIUTIINHE; CIIOCOOEH 0e3 OMMOOK OTBETUTH Ha JOMOJHUTEIBHBIE BOMPOCH, IPU BHICKA3bIBAHUM HA 3aJIaH-
HYIO TEMY HCIOJB3YeT CIOKHBIE TPAaMMATHYECKUE KOHCTPYKIHMH (CIOXKHBIC MPEUIOKECHUs, MHOUHUTUBHbBIE
00OPOTHI  T.11.); HE IOMYCKAET TPaMMaTHYECKUE OMUOKH, MCKAXKAIONIUX CMBICI, 0OHApYKUBAaEeT YMEHHUE CaMO-
CTOATENHHO 00001IATh U U3JIaraTh MaTepHall, He JOMYCKas OIIUOOK.

Or1eHKa «XOpOIIO» CTaBUTCS, €CJIM CTYACHT TBEPJO 3HAET MPOrPaMMHBIA MaTepHal, TPaMOTHO | IO CY-
LIECTBY M3JIAaraeT €ro, He JOIMYCKaeT CYIIECTBEHHBIX HETOYHOCTEM B OTBETE HAa BOMPOC, MOXKET MPABUIBLHO
MIPUMEHSATHh TEOPETUUECKUE TTOJIOKEHUS U BIIaZIeeT HEOOXOIUMBIMI HaBBIKAMH TIPH BBIMTOJTHEHUN TTPAKTUUECKUX
3aaHUM.

Or1eHKa «yJOBICTBOPUTEIBHO» CTABUTCS, €CJIA CTYJEHT YCBOMJ TOJILKO OCHOBHOM MaTepuall, HO HE 3Ha-
€T OTIEeNbHBIX JeTaliel, JOMyCKaeT HETOYHOCTH, HEJOCTaTOUHO MpaBWIbHBIE (JOPMYIUPOBKH, HApYIIAEeT TO-
CJIEIOBATEIHLHOCTH B M3JI0’KEHUH TIPOTPAMMHOTO MaTepHalia U UCTIBITHIBACT 3aTPYAHEHUS B BBITIOJTHEHUH TTPaK-
TUYECKUX 3a/IaHU.

Or1eHKa «HEYIOBJIETBOPUTEIHHOY» CTABUTCS, €CIIU CTYICHT HE 3HAET 3HAYUTEIILHONW YaCTH MPOTPaMMHOTO
MaTepuana, JOMyCKaeT CYIIeCTBEHHBbIE OMIMOKH, ¢ OONBIIMMH 3aTPYAHCHUSIMH BBITIOIHSACT MPAKTHYECKHUE pa-
OOTHI.

5. IEPEYEHb OCHOBHOA U IONIOJIHUTEIbHOM YYEBHOW JIUTEPATYPBI,
HEOBXOJNMOIi J1JIs1 OCBOEHUSA JUCIHUTIIAHBI (MOIY.JIS)
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5.1 OcHoBHas 1UTEpaTypa:

1 JleBuenko, B. B. AHrnmuiickuii 361K JJ9 W3Y4aIOMUX TOCYJapCTBEHHOE M MYHHUIIMITAIILHOE yIIpaBJie-
HUE : yUeOHUK M MPAKTUKYM JJIs akagemuyeckoro OakanaBpuara / B. B. JleBuenko, O. B. Memepskosa, E. E.
Honranésa. — M. : UszmarensctBo HOpaiir, 2017. — 424 c¢. — Pexum pocryma : Www.biblio-
online.ru/book/CFCB014D-DA35-43BA-8706-119A4COFE118

2 Hes3zopoBa, I'. JI. Aarnuiickuii s3pIK. ['pammaruka : ydyeOHOe mocoOue ajsi akaeMHU4ecKoro Oaka-
naspuara / I'. JI. Hes3oposa, I'. . Hukutymkuna. — 2-e u3f., ucop. u gon. — M. : U3natensctBo FOpaiir,
2017. — 306 c. — Pexum pocryma : www.biblio-online.ru/book/00F5FC4A-34B4-455A-9D05-
SC6CAEQ734C5

JU1g 0OCBOEHUS TUCUUIUIMHBI MHBAIUIAMU U JIMLIIAMU C OTPAHMYEHHBIMUA BO3MOKHOCTSIMH 3/I0POBBS UMeE-
IOTCS M3/1aHUS B 3JICKTPOHHOM BHUJIE B AJIEKTPOHHO-O0MOIMOTEeYHOI cucteme «tOpaitTy.

5.2 JlonoJHUTeIbHAS JIUTEpaTypa:

1 KpacaBuna, B.B. AHrmiickuii s3bIK : BpeMeHa U MOJAIbHBIC TJIarojsl : y4ed. mocooue [DneKTpoH-
HBIN pecypc] : yuel. mocodue — DnexrpoH. nan. — Mocksa : @JIMHTA, 2017. — 140 c¢. — Pexxum gocryna:
https://e.lanbook.com/book/90656

2 Kypsesa, P. . Aurnwmiickuii s361K. Buno-Bpemennsie ¢popmel riaarona B 2 4. Yacts 1 : yuebHoe moco-
ome mns akamemudeckoro OakamaBpuata / P. U. Kypsea. — 5-e m3a., uctp. u gorn. — M. : M3gaTenscTBO
FOpaiit, 2017. — 361 c¢. — Pexum gocryma : www.biblio-online.ru/book/B06822E5-2563-4E32-A64B-
1C6148655CCE

3 Kypsesa, P. . Aurnuiickuii sa3bik. Buno-Bpemennsie ¢popmel rinarona B 2 4. Yacts 2 : yuebHOE TIOCO-
ome mns akamemudeckoro OakamaBpuata / P. . KypseBa. — 3-e m3a., uctp. u jgorn. — M. : M3garenscTBO
FOpaiit, 2017. — 339 c¢. — Pexum mgoctyma : www.biblio-online.ru/book/5673E4B7-1A4C-4BE1-A6B5-
FO1FFB415DD3

4 JlaBpoBa, H.A. Aurno-pycckuii cinoBaps. CoBpeMeHHbBIE TEHJCHIINH B clI0BooOpazoBanuu. Konrtamu-
HaHTHI [ DJIEKTPOHHBIN pecypc] : cinoB. — DnekTpoH. gaH. — Mocksa : ®JIMHTA, 2016. — 208 c¢. — Pexum
nocryna: https://e.lanbook.com/book/84363

5 Jlanenkos, [I.C. TeopeTuueckuii Kypc aHTITUHCKOTO S3bIKa: y4e0.-MeTO/1. Tocooue [ DIEeKTPOHHBIN pe-
cype] : yueb-meton. nocobue / J[.C. Jlanenkos, O.A. MBanoBa, .A. EnuceeBa. — DnekTpoH. JaH. — MockBa
: ®JIMHTA, 2017. — 151 c. — Pexxum nocryma: https://e.lanbook.com/book/97158

6 Hyxnosa, E. E. Aurnmuiickuii si3eik. Professional reading: law, economics, management : yueGHoe mo-
cobue ms By30B / E. E. HyxxHOoBa. — 2-¢ m3j., ucnp. u gomn. — M. : U3narensctBo FOpaiit, 2017. — 149 ¢. —
Pexxum moctyma : www.biblio-online.ru/book/58011023-AE25-4B27-9DA4-EC19B66B6E63

7 Tlepmmna, E. YO. Aurnuiickuii s3bik. [Ipaktudeckas rpammaruka B 2 4. Yacte 2. ['naronsHbie popmbl
U CHHTakcHc : ydyeOHoe mocolue i akagemuueckoro Oakanaspuara / E. 0. Ilepmmna. — 2-e u3z., ucnp. u
non. — M. : U3narensctBo FOpaiit, 2017. — Pexum moctyna : www.biblio-online.ru/book/194D638B-1FE4-
4417-A663-CF071B367A68

8 [Ilepummna, E. 10. Aurmmiickuii si3pik. [IpakTuueckas rpamMatika B 2 4. Yacte 1. Mopdomorus :
yuebHoe nocobue /i akageMmudeckoro 6akanaspuata / E. FO. Ilepmuna. — 2-e u3zn., ucnp. u gon. — M. : 13-
narenbetBo FOpaiit, 2017. — 200 ¢. — Pexxum mocryma : www.biblio-online.ru/book/83A6DB10-50AC-4F91-
9421-FE831373F812

9 Cumnonc, O.B. HoBblif aHMIO-pYCCKUH CIIOBaph-CIIPABOYHUK. DKOHOMHUKA [DJIEKTPOHHBIA pecypc] :
CJOB.-CIIpaB. — OneKTpoH. naH. — MockBa : @JIMHTA, 2016. — 712 c¢. — Pexum pgocryna:
https://e.lanbook.com/book/84608

10 VBapos B.U. AHrnuicKuit S3bIK /U1l SKOHOMHUCTOB : YU€OHMK U MPAKTUKYM JJIsl aKaJeMU4ecKoro Oa-
kanmaspuara / T. A. bapanoBckas [u ap.]. — 2-e u3z., mepepad. u gon. — M. : UznarenscrBo KOpaiit, 2017. —
377 c. — Pexxum noctyna : www.biblio-online.ru/book/D3F778E0-COCD-4B5F-8536-DD0D12816BF2

11 Skymesa, U. B. JlenoBoit anrnuiickuit s3uik. Introduction into professional english : yue6uuk u mpax-
TUKYM JUJIs akageMudeckoro Oakanaspuara / M. B. Skymesa, O. A. JlemueHnkoBa. — 3-€ U31., UCIp. U JIOI. —
M. : UznarensctBo FOpaiit, 2017. — 221 ¢. — Pexum goctryma : www.biblio-online.ru/book/7889CA96-
AACF-4398-98BA-921FDF10BE90

5.3 Ilepuoguyeckue U3IaAHUA:
AHrnmiickuii s3eik. [lepBoe ceHTsOps
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Yenosek. CoobiiecTBo. YpaBieHue

6. MEPEYEHb PECYPCOB UH®OPMAIIMOHHO-TEJEKOMMYHUKAIIMOHHOM CETH
«MHTEPHET», HEOBXOJIUMBIX JJI51 OCBOEHUA JUCHUIIJIMHBI (MOAYJIS)

Kaxapiii oOyyaromuiicss B TeueHHE BCEro mepuojia o0ydeHusi o0ecredeH MHAMBHUAYaIbHBIM HEOTpaHU-
YEHHBIM JIOCTYIIOM K 3JIEKTPOHHOH MH(POPMALMOHHO-00pa30BaTENbHON Cpele OpraHu3alud U K npodeccro-
HaJIbHBIM 0a3aM JaHHBIX, JJEKTPOHHBIM 00pa3oBaTeNbHBIM pecypcaMm, VHTepHeT-caiiTaM crielnaaIn3upoBaH-
HBIX BEJIOMCTB.

HaumenoBanue caiita Anpec caiita
DnexkrponHas oubmuoreka grebennikon.ru www.grebennikon.ru
basbl nanueix kommanuu «Mcr Bero Undopmeiinn Cepsucus, THK http://dlib.eastview.com
«Jlexropuym» (Muno6pnayku Poccun, JlemapramMenT ctparpa3BUTHS) http://www.lektorium.tv/
HanmonanpHas s1nexTpoHHast Ondamorexa http://H36.pd/
DNEeKTPOHHBIN apXuB JOKyMeHTOB KyOol'Y http://docspace. kubsu.ru

7. METOJUYECKHUE YKA3AHUSI /151 OBYYAIOLIUXCSI IO OCBOEHUIO
JUCLUILIMHBI (MOLYJIST)

[Tpu u3ydeHUH TUCIUTUIMHBI HCIIOIB3YIOTCS CeayIone GopmMbl pabOTEHI.

1. JTaGopaTopHble 3aHATHSA, HA KOTOPBHIX BBIMOIHSIOTCS JIEKCMUECKHE U TpaMMaTUYECKUEe YIPaKHEHHUS,
Keiic-3aaHusi, IpOBOUTCS TeCTUpOoBaHue. [Ipy MoAroToBKE K J1a0OpaTOPHOMY 3aHSTHIO CIEAYET:

- HCTIOJIb30BaTh PEKOMEHIOBAHHBIE MPEINO01aBaTeIsIMI YYEOHUKHU U ydeOHbIe TOcOOUs - IS 3aKperICHUS
TEOPETUYECKOT0 MaTepHaa;

- IOATOTOBUTH JAOKIIAbI U COOOIIEHMS, pa300paTh MpoOIeMHbBIEC CUTYAIUH;

- pa3zo0OpaTh COBMECTHO C IPYTUMU CTYJACHTAMH U 0OCYIUTH BOIIPOCHI MO TEME J1a0OPaTOPHOTO 3aHATHS U
T.0.

2. CamocTosTenpHas paboTa, KOTOpast SIBJISICTCS OJTHAM U3 TJIABHBIX METOJIOB H3yUEHUS JTUCIIUATIIIHEIL.

Ilenb camocTOSITENHEHOM pabOTHI — pacHIUpeHHe KPyro3opa U yriayOlieHHe 3HaHWM B OOIACTH TEOPUH H
MPAKTUKU BOIIPOCOB M3y4aeMOU TUCIUTUIMHBI.

KoHTpo:b 32 BEINOTHEHHEM CaMOCTOATEIbHOM pabOThl MPOBOIUTCS MPU U3YUCHUH KaXKIOW TEMBI THUCIIU-
TJTMHBI Ha JIA0OPATOPHBIX 3aHATHUAX. IJTO JEKCUYECKHE U TpaMMaTHYECKUE YNPAKHEHUS, TECTOBBIC 3aJIaHUs,
MOATOTOBKA pedeparTos.

CamocrosiTenpHast paboTa CTy/IeHTa B MPOIECCE OCBOCHUSI TUCIMILIMHBI BKIIFOYAET B cE0s:

— U3Y4€HHE OCHOBHOM U JOTOJIHUTENBHOU TUTEPATYPHI IO KYpPCY;

— paboTy ¢ ANEKTPOHHBIMU OMOITHMOTEYHBIMHU CHCTEMaMHU,

— U3y4YeHHE MaTepHUaJIOB NIEPUOIUUECKON rTeuaT, IHTepHeT - pecypcos;

— BBITIOJIHEHHUE YIIPAKHECHHI,

— UHJUBUyaJIbHBIE U TPYNIOBbIE KOHCYIbTAIUU;

— TOJITOTOBKY K 3a4€Ty, SK3aMEHY.

3. 3ader mo aucHUIUIMHE. 3a4eT craeTcs B ycTHou ¢dopme. [Ipencrasmsier coboi cTpyKTyprpOBaHHOE 3a-
JaHWE TI0 BCEM pasjiesiaM JUCIUIUIHHBL. JIJIsT TOATOTOBKU K 3a4€Ty CIIEIYET BOCIIOIh30BAaThCSI PEKOMEHIOBaH-
HBIM TpErnojiaBaTesieM Y4eOHUKaMU, METOJUYECKUMH YKa3aHHMSIMH K JJa0OpaTOPHBIM 3aHATHSIM M CaMOCTOSI-
TEITLHON KOHTPOJIUPYEMOH paboTe CTyJAeHTa Mo JNUCIHIUINHE, TJI0CCApUEM, CBOMMH KOHCIIEKTaMH J1abopaTop-
HBIX 3aHATUH, BBITOJIHEHHBIMHA CAMOCTOSITEIbHBIMU padOTaMHu.

DK3aMeH MO JUCIUIITHHE. JK3aMEeH, MTPOBOAIINNCS B YCTHOU (popMe, BKITFOYAET CIEAYIOIINE KOMITOHEH-
THBI:

1. Yrenwne u nmepeBo]; SIKOHOMHUECKOTO TEKCTA.

2. Tlepecka3 5KOHOMHUYECKOTO TEKCTa Ha 33JaHHYIO JICKCHYECKYIO TEMY.

3. YCTHBIN OTBET Ha 33JJaHHYIO TPAMMAaTHYECKYIO TEMY.

DK3aMeH MPeJCTaBIIAeT COO0M CTPYKTYPHPOBAHHOE 33aJaHUE 110 BCEM pasjieiaM TUCIUIUIUHEL. [[Jsi MOATOTOBKH
K 9K3aMEHY CJIeIyeT BOCIIOJIb30BAThCSI PEKOMEHIOBAHHBIM MPENOaBaTeeM yueOHUKaMH, METOIUICCKUMHU
YKa3aHUSMH K TJA0OPATOPHBIM 3aHATUSM U CAMOCTOSITETLHOM KOHTPOJIUPYEMO paboTe CTyIeHTA 110 AUCIIH-
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IIJIUHE, FJIOCCElpI/IeM, CBOHUMMH KOHCIICKTaMH na6opaT0prlx SaHﬂTHﬁ, BBIIIOJIHCHHBIMH CaMOCTOATCJIIbHBIMHA pa—
0oTaMu.

B ocBoeHMM TUCHMIUIMHBI MHBAJIUAAMHU M JUIAMHA C OTPAaHUYEHHBIMU BO3MOXHOCTSIMU 3/10POBbs 00JIb-
[I0€ 3HA4YCHHWE HMMeEeT MHIUBUAyalbHas y4yeOHasi pa®oTa (KOHCYIbTAIlMH) — JOMOJHUTEIBHOE pa3bsCHEHUE
y4ebHOro mMarepuania.

WuauBuyanbHble KOHCYJIBTAIMU 110 IPEIMETY SBISIOTCS BaXKHBIM (PaKTOPOM, CIIOCOOCTBYIOIIUM HWHIM-
BUyaJIN3alluU OOyYEHUsS U YCTAHOBJIEHUIO BOCHUTATENBHOIO KOHTAKTa MEXAY IpernojaBaresieM U o0ydaro-
LIUMCSI MHBAJIAJIOM WJIH JIMLIOM C OTPAHUYECHHBIMU BO3MOKHOCTSIMHU 3/10POBbSI.

8. IEPEYUEHb HH®OPMAIIMOHHBIX TEXHOJIOT Ui, UCIIOJIb3YEMBIX ITPH
OCYHIECTBJIEHUU OBPA30OBATEJIBHOI'O ITPOLECCA 110 JUCHUIIJIMHE (MOAYJIIO)

8.1 IlepeyeHp HEOOX0AMMOTI0 NIPOrPAMMHOIO O0ecTieYeHus!

— KOMILIEKC B3aUMOCBSI3aHHBIX MPOTpaMM, NIPeIHAa3HAYCHHBIX JIJIs yrpaBieHus: pecypcamu [1K u opra-
HU3AI[MM B3aMMOJIEHCTBHS ¢ I0JIb30BareeM onepanuonHas cucrema Windows XP Pro (morosop Ne77 AD®-
223-03-2017 ot 03.11.2017);

— TaKeT MPUJIOXKECHUHN VIS BHIIIOJHEHHS OCHOBHBIX 3a]la4 KOMITBIOTEPHOM 00paOOTKU pa3InYHbIX THIIOB
nokymertoB Microsoft Office 2010 (morosop Ne77 AD®-223-D3-2017 ot 03.11.2017);

— mporpamma it KomruiekcHo# 3amuthl [1K, o0benuHsromas B cedbe aHTHBUPYC, aHTHUIIITAOH U (yHK-
U0  yOAICHHOTO aJMUHHCTpupoBaHus antuBupyc Kaspersky endpoint Security 10 (ITucemo
AQO_Jlabopatopus Kacniepckoro Ne 3368 ot 03.08.2016);

— noroBop Ne 128-HK o B3aumHoM coTpyaHuyectBe co CrnpaBouno - [louckoBoit Cucremoit I'apanrt ot
19.12.2014 (GeccpouHbIii).

8.2 Ilepeuenb HHGOPMAINHOHHBIX CIIPABOYHBIX CHCTEM

OObyuaromumMcs o0ecredeH 10CTYI K COBPEMEHHBIM PO(ecCHOHAIBHBIM 0a3aM JaHHbBIX, CIPABOYHBIM U
MIOUCKOBBIM CHCTEMAaM.

1. CnpaBouno-mipaBoBas cuctema «Koncynbrant [Tirocy (http://www.consultant.ru).

2. DnekTponHast oubnmoreunas cucrema eLIBRARY.RU (http://www.elibrary.ru)/

9. MATEPHAJIBHO-TEXHUYECKAS BA3A, HEOBXOJAUMASA JIs1 OCYLWECTBJIEHUSA
OBPA3OBATEJIBHOI'O ITPOLHECCA 11O JUCHUITJIMHE (MOAYJIIO)

HaumenoBanue cneniuanbHbIX TOMEIIEHUH U OcCHaIeHHOCTh CHEUAIbHBIX TOMEIICHUHN 1
TTOMEIICHHI I CAMOCTOSITEIbHON PabOTHI TIOMEMICHH I CAaMOCTOSITEIbHOM PabOThI
YyeOHast ayTuTOpUs AJIsl IPOBEACHUSI 3aHATHIA MynbTUMEANITHBINA TPOEKTOP, IKPaH, KOMITBIOTEPHI,

JIEKIIMOHHOTO TUTIA, 3aHITHI CEMUHAPCKOTO THUTIA, yaeOHast Mme0Oenb, Tocka yueOHas, Beixoa B MaTED-
TPYNIOBBIX U UHMBHUIYaIbHBIX KOHCYJIBTALIMM, HET, AJIEKTPOHHBIE PECYPCHI, JOKaNbHas ceTh, MDY
TEKYIIEro KOHTPOJISI ¥ POMEKYTOYHOM aTTecTaluu | (MHOTO(QYHKIIMOHATBLHOE YCTPOUCTBO), yueOHO-
352120, KpacHonapckuii kpaif, HarJsIHbIe TOCOOUS, 0OecIIeYnBaIOIIe TeMaTHIe-
r. Tuxopenxk, yi. OxtsaOpbckas, 1. 240, CKHME WJUTKOCTPALIUH.

Ne 301

JlaGopaTopus

352120, KpacHomapckuii Kpaid,
r. Tuxopenxk, yn. OxtssOpbckas, 1. 240,
Ne 301

[TomenieHue st CaMOCTOSITETHHON pabOTHI, C pa- [epconanbHBIE KOMIBIOTEPHI, TIPUHTED, BHIXO B
00YMMH MeCTaMU, OCHAIIICHHBIMU KOMITbIOTepHOW | IHTepHeT, yueOHas MeOenb.

TEXHUKOH € MOAKIIOYEHUEM K ceTn «HTepHeT» 1
o0ecrieueHneM HEOrPaHWYCHHOTO JOCTYIA B DJICK-
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TPOHHYIO HH(POPMALIMOHHO-00pa30BaTEIbHYIO Cpe-
Iy OpTaHU3aIMN IS KaXKI0TO 00YyJaroIIerocs
352120, KpacHogapckuii kpai,

r. Tuxopenxk, yn. OxtsaOpnckas, 1. 246

Ne 406

[TomemeHue st CAaMOCTOSITENILHOM pabOTHI, C pa-
00YMMH MECTaMH, OCHAIIIEHHBIMU KOMITbIOTEPHOM
TEXHUKOH C MOAKIIIOYEHUEM K ceTu «HTepHeT» 1
o0ecrieueHneM HEOrpPaHWYEHHOIO JOCTYIa B AJIEK-
TPOHHYIO HH(POPMAITMOHHO-00pa30BaTEIBHYIO Cpe-
Iy OpraHU3aI|H 71 KaX10T0 00y4aronierocs, B
COOTBETCTBHH C 00bEMOM U3y4aeMbIX JTUCIIUTUIHH
352120, Kpacnogapckuii kpa,

r. Tuxopenxk, yn. OxtssOpbckast, a. 240,

Ne 36

[Tomemienue ast XpaHeHHUs ¥ MPOPUIAKTUYECKOTO
00CITy>)KUBaHUsI YI€OHOTO 000PYAOBaHUS

352120, Kpacnogapckuii kpai,

r. Tuxopenk, yin. OktaOpbckas, 1. 240

No 99 a

[TepconanbHBIE KOMIBIOTEPHI, IPUHTEDP, BHIXO]I B
Hurtepuer, yueOHas MeOEb.

Ctos KOMIIBIOTEPHBIH, celi, Mebenb oducHas, cTe-

JaXX1u MCTaAJINTMYCCKUCE.
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